= (T .
QIANLI

AL T 2 BRI 8 A R
RETZL

FERRULES&HOSE FITTINGS




H % CATALOGUE

H =% (catalogue

el ] IR/
REFERENCE it DESCRIPTION PAGE
01100 FERRULE FOR CHINA1-WIRE HOSE 2
01200 FERRULE FOR CHINA2-WIRE HOSE 2
01300 FERRULE FOR CHINA3-WIRE HOSE 3
01400 FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE 3
00100 FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE 4
00110 FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 4
00110-A FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 5
00200 FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE 5
00210 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
03310 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
00400 FERRULE FOR 4SP 4SH/10-16. R12/06-16 HOSE 7
00401 FERRULE FOR R12/20-24 HOSE 7
00018 FERRULE FOR SAE 100R7 HOSE 8
00TFO FERRULE FOR TEFLON HOSE 8
00500 FERRULE FOR SAE 100 R5 HOSE 9
00621 FERRULE FOR GB/T 10544 R13/SAE 100 R13/EN856 R13 HOSE )
10311 O-RING METRIC MALE FLAT SEAT 14
20211 20211-T | METRIC FEMALE FLAT SEAT 15
20241 20241-T | 45° METRIC FEMALE FLAT SEAT 16
20291 20291-T | 90° METRIC FEMALE FLAT SEAT 17
10411 METRIC MALE 24°CONE SEAT L.T. 18
20411 20411-T | METRIC FEMALE 24° CONE O-RING L.T. 19
20411C METRIC FEMALE MULTISEAL 24° CONE L.T. 20
20411C-T

20441 20441-T | 45° METRIC FEMALE 24° CONE L.T. 2%
20491 20491-T | 90° METRIC FEMALE 24° CONE O-RING L.T. 22
20491C 90° METRIC FEMALE 24° CONE MULTISEAL L.T. 23
20491C-T 23
10511 METRIC MALE 24° CONE SEAT H.T. 24
20511 20511-T | METRIC FEMALE 24° CONE O-RING H.T. 25
20511C METRIC FEMALE 24° MULTISEAL H.T. 26
20511C-T

20541 20541-T | 45° METRIC FEMALE 24° CONE O-RING H.T. 27
20541C 45° METRIC FEMALE 24° MULTISEAL H.T. 28
20541C-T

20591 20591-T | 90° METRIC FEMALE 24° CONE O-RING H.T. 29
20591C 90° METRIC FEMALE 24° MULTISEAL H.T. 30

20591C-T




H % CATALOGUE

10611

20611 20611-T
20691 20691-T
10711

20711 20711-T
20741

20791

10811L

20111 20111-T
20141 20141-T
20191 20191-T
50011

50091

51011

51091

NS NL

1227T™

12611

12611A

22611 22611-T
22611-W
22611D
22611D-SM
22641 22641-T
22641-W
22691 22691-T
22691-W
22691K

22111 22111-T
22111-W
22141 22141-T
22141-W
22191 22191-T
22191-W
13011-SP
14211

24211 24211-T
24211-W
24291 24291-T
24291-W
15611

16011

16711L

16711

METRIC MALE DOUBLE USE FOR 60°
METRIC FEMALE 6° CONE

90° METRIC FEMALE 60° CONE
METRIC MALE 74° CONE

METRIC FEMALE 74 CONE SEAT

45° METRIC FEMALE 74° CONE SEAT
90° METRIC FEMALE 74° CONE SEAT
METRIC MALE 90° CONE

METRIC FEMALE MULTISEAL

45° METRIC FEMALE MULTISEAL

90° METRIC FEMALE MULTISEAL
METRIC STANDPIPE STRAIGHT

90° METRIC STANDPIPE STRAIGHT
BSP STANDARD PIPE

90° BSP STANDARD PIPE

RETAINING NUT L.T.

BSP MALE O-RING SEAL

BSP MALE 60° CONE SEAT

BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED SEAL

BSP FEMALE 60° CONE

BSP FEMALE 60° CONE DOUBLE HEXAGON
BSP FEMALE 60° CONE DOUBLE HEXAGON
45° BSP FEMALE 60 CONE

90° BSP FEMALE 60 CONE

BSP FEMALE CONE DOUBLE HEXAGON
BSP FEMALE MULTISEAL

45° BSP FEMALE MULTISEAL

90° BSP FEMALE MULTISEAL

BSP MALE

ORFS MALE O-RING SEAL

ORFS FEMALE FLAT SEAT

90° ORFS FEMALE FLAT SEAT  ISO 12151-1—SAE J516
NPT MALE

SAE O-RING SEAL

JIC 74° MALE CONE SEAL LONGER
JIC 74 MALE CONE SEAL

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

S
Sk
52
53

54
55

56
57
58
59
60
61
62
63

64
65




H % CATALOGUE

2671

26741 26741W
26791 26791W
26791K

17811

27811

21611

87312

87342

87392
87392-H
HALF
FLANGE
87612

87642

87692

18611

28611 28611W
28691 286912
19611

29611 29611W
29691 29691W
88111

88141

88191
20011-ST
70011

700M

72011

720B

90011

90012

JIC FEMALE 74 CONE SEAT

45° JIC FEMALE 74° CONE SEAT

90° JIC FEMALE 74° CONE SEAT

90° JIC COMPACT FEMALE 74° CONE SEAT
SAE MALE 90° CONE

SAE FEMALE 90° CONE SEAT
NPSM FEMALE 60 CONE

SAE FLANGE 3000 PSI

45° SAE FLANGE 3000 PSI

90° SAE FLANGE 3000 PSI

90° SAE FLANGE SPECIAL HEIGHT
FL 3000 PSI HALF FLANGE

FS 6000 PSI HALF FLANGE

SAE FLANGE 6000 PSI

45° SAE FLANGE 6000 PSI

90° SAE FLANGE 6000 PSI

JIS METRIC MALE 60 CONE SEAT
JIS METRIC FEMALE 60° CONE SEAT
90°JIS METRIC FEMALE 60° CONE SEAT
JIS GAS FEMALE 60° CONE SEAT

JIS GAS FEMALE 60° CONE SEAT

90° JIS GAS FEMALE 60° CONE SEAT
JIS FLANGE

45° JIS FLANGE

90° JIS FLANGE

METRIC FEMALE WATERWASH INSERTS 20011-ST

METRIC BANJO
METRIC BOLT

BSP BANJO

BSP BOLT

DOUBLE CONNECTOR
DOUBLE CONNECTOR

66
67
68
69
69
70
71
72
73
74
¥o)
76
76
77
78
79
80
81
82
83
83
84
85
85
86
86
87
88
89
90
90
91




£ FERRULE

M52 5] (INDEX)

00100

e

7
AT

00400

00TFO




£ FERRULE

7 01100

&7 — IR S B 1
FERRULE FOR CHINA1-WIRE HOSE

(i [k HOSE BORE J{~} DIMENSIONS
PART NO. AFRAE DN | 55 DASH L
01100-03 5 03 28
01100-04 6 04 30
01100-05 8 05 32
01100-06 10 06 32
01100-08 12 08 34
01100-10 16 10 39
01100-12 20 il% 43
01100-14 22 14 43
01100-16 25 16 50
01100-20 32 20 59
01100-24 40 24 74
01100-32 50 32 78

L

01200

I 7= = SR g R A 15
FERRULE FOR CHINA2-WIRE HOSE

(i [k HOSE BORE X~} DIMENSIONS
PART NO. AFRAE DN | #5*5 DASH L
0120003 5 03 28
0120004 6 04 30
0120005 8 05 32
0120006 10 06 32
0120008 12 08 34
0120040 16 10 39
01200412 20 12 43
01200414 22 14 43
01200416 25 16 50
0120020 32 20 59
0120024 40 24 74
0120032 50 32 78




£14 FERRULE

L
01300
& 7= = E R B
FERRULE FOR CHINA3-WIRE HOSE
Rz [k HOSEBORE J{~} DIMENSIONS
PARTNO. ARHN4E DN | F55 DASH L
01300-04 6 04 30
01300-05 8 05 32
01300-06 10 06 32
01300-08 12 08 34
01300-10 16 10 39
01300-12 20 12 43
01300-14 22 14 43
01300-16 25 196 50
01300-20 32 20 59
01300-24 40 24 74
01300-32 50 32 78
- L -
T X
R12/20-24)¢ [F 7 DU JZ 40 22 P 52 i i £ 16
FERRUE FOR R12/20-24& ‘FEIYU' 4-SPIRAL HOSE
(A ki HOSE BORE R~} DIMENSIONS
PART NO. AFRN4E DN | #5'5 DASH L
01400-04 6 04 375
01400-06 10 06 39
01400-08 12 08 41
01400-10 16 10 43
01400-12 20 12 51
01400-14 22 14 54
01400-16 25 196 61.5
01400-20 32 20 67.5
01400-24 40 24 75
01400-32 50 32 79




£ FERRULE

- L
il
SAE 100RIA/DIN20022 1STRE E
FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE
Rz k% HOSE BORE J{~<} DIMENSIONS
PART NO. AFRAE DN | #5*5 DASH L
0010002 4 02 27
0010004 6 04 30
0010005 8 05 31
0010006 10 06 32
0010008 12 08 34
0010040 16 10 37
00100412 20 12 43
0010046 25 16 50
0010020 32 20 59
0010024 40 24 74
0010032 50 32 78
- L
I
SAE 100R1AT/DIN20022 1SNK &£ 14
FERRULE FOR SAE 100R1AT/DIN20022 1SN HOSE
(A ki HOSE BORE R~} DIMENSIONS
PART NO. NFRWN4E DN | #5'5 DASH L
00110-03 5 03 24.5
00110-04 6 04 30
00110-05 8 05 31
00110-06 10 06 32
00110-08 12 08 34
00110-10 16 10 37
00110-12 20 12 43
00110-16 25 16 50
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78




14 FERRULE

. L .
L
1 SAE 100R1AT/DIN20022 1SN 14
FERRULE FOE SAE 100R1AT/DIN20022 1SN HOSE

(i k& HOSE BORE J{~<} DIMENSIONS
PART NO. AFRE DN | #5'5 DASH L
00110-03A 5 03 23
00110-04A 6 04 30.5
00110-05A 8 05 30
00110-06A 10 06 32
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 il 42
00110-16A 25 16 51
. L -
il g

SAE 100R2A/DIN20022 2STK &4 4
FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE

(A ki HOSE BORE R~} DIMENSIONS
PART NO. NFRWN4E DN | #55 DASH L
0020002 4 02 27
0020004 6 04 30
0020005 8 05 3
0020006 10 06 32
0020008 12 08 34
0020040 16 10 37
00200412 20 12 43
00200416 25 16 50
0020020 32 20 59
0020024 40 24 74
0020032 50 32 78




£ FERRULE

LI -

SAE 100R2AT/EN 853 2SN ‘& & 14
FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE

(A ki HOSE BORE X~} DIMENSIONS
PART NO. AFRAE DN | 55 DASH L
0021003 5 03 24.5
0021004 6 04 30
0021005 8 05 31
0021006 10 06 32
0021008 12 08 34
0021040 16 10 37
00210412 20 12 43
0021046 25 16 50
0021020 32 20 59
0021024 40 24 74
0021032 50 32 78

AR T TREN UK
L

7
il ||W 03310

SAE 100R2AT/EN 853 2SN E 1A
- FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE

(A ki HOSE BORE X~} DIMENSIONS
PART NO. AFRAE DN | #55 DASH L
0331003 5 03 23
0331004 6 04 30.5
0331005 8 05 30
0331006 10 06 32
0331008 12 08 34
0331040 16 10 37
03310412 19 12 42
03310416 25 16 51
0331020 32 20 59
0331024 40 24 67
0331032 50 32 72




£ FERRULE

- L -
00400
T“T "/T 4SP. 4SH/12-16 R12/06-165E 4

FERRULE FOR 4SP 4SH/10-16 R12/06-16 HOSE

(A ki HOSE BORE X~} DIMENSIONS
PART NO. AFRAE DN | #55 DASH L
0040004 6 04 375
0040006 10 06 39
0040008 12 08 41
0040040 16 10 43
00400412 20 2 51
00400416 25 16 61.5
0040020 32 20 67.5
0040024 40 24 75
0040032 50 32 79

L

WWW 00401

4SH. R12/326W &£
FERRULE FOR 4SP 4SH/10-16 R12/06-16 HOSE

(A ki HOSE BORE X~} DIMENSIONS
PART NO. AFRAE DN | #55 DASH L
0040120 32 20 67.5
0040124 40 24 75
0040132 50 32 79




£ FERRULE

e 00018
SAE 100 R7 K& E
FERRULE FOR SAE 100R7 HOSE
R iR HOSE BORE R~} DIMENSIONS
PART NO. AFEHNAE DN | $15 DASH L
0001893 5 03 27
00018904 6 04 29
0001895 8 05 31
00018906 10 06 31
0001808 12 08 34
0001810 16 10 36
0001812 20 12 43
0001816 25 16 50
7 7
O0TFO
IS WE ]
FERRULE FOR TEFLON HOSE
= k& HOSE BORE J~] DIMENSIONS
PART NO. NFRNFE DN | #5'5 DASH L
00TF0-03 4 03 26.5
00TF0-04 6 04 30.7
00TF0-05 8 05 30.6
00TF0-06 10 06 32.1
00TF0-08 12 08 34.3
00TF0-10 16 10 37
00TF0-12 20 12 42.8
00TF0-14 22 14 42.7
00TF0-16 25 16 50.8




£ FERRULE

00500

SAE 100 Rk &£ 1%
FERRULE FOR SAE 100 R5 HOSE

e K% HOSE BORE R~} DIMENSIONS
PART NO. A% DN ki DASH | SAEb: = L
0050003 4 03 04 22.6
0050004 6 04 05 25.7
0050005 8 05 06 22.4
0050007 11 07 08 26.2
0050008 12 08 10 27.7
0050040 16 10 12 29.7
0050044 22 14 16 335
0050048 28 18 20 42.7
0050022 35 22 24 47
0050029 46 29 32 50.8
0050038 60 38 40 63.0

S 00621
GB/T 10544 R13/SAE 100 R13/EN856 R13
UUU FERRULE FOR FERRULE FOR SAE 100 R5 HOSE
~ e BEFHNIMNRER

5 k% HOSE BORE R~ DIMENSIONS

PART NO. AF W1 DN | #5%5 DASH L
0062142 20 12 53
00621416 25 15 66
0062120 32 20 88.5
0062124 40 24 102
0062132 50 32 108




WAL HOSE FITTING

ME2Z5] ( INDEX)

10811L

NS

Ny
‘«/'/7//\}/'//,/;,,,




WAL HOSE FITTING

NL,NS

51011

12211

12611 12611A

22611 22611D 22611D-SM

ﬁ%ﬁ%%%&m

[N\

NN\
IW/Z,,, rr2z777m
]

1



Tk HOSE FITTING

12



WAL HOSE FITTING

20011-ST

NN
||

|

720B

90012

13



WAL HOSE FITTING

A
D 10311
=]
LA A HISMBLOT T O P 2
O-RING METRIC MALE FLAT SEAT
(. | — . - A
INFRINAR bR = A C S1
10311-12-04 M12X1.25 6 04 22.5 10 14
10311-14-04 M14X1.5 6 04 235 11 14
10311-16-04 M16X1.5 6 04 23.5 11 17
10311-16-05 M16X1.5 8 05 23.5 11 17
10311-16-06 M16X1.5 10 06 23.5 11 17
10311-18-06 M18X1.5 10 06 23.5 11 19
10311-22-05 M22X1.5 8 05 27 12 24
10311-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
1031-27-10 M27X1.5 16 10 315 13 30
10311-30-12 M30X1.5 20 12 335 14 32
10311-36-12 M36X2 20 12 355 16 38
1031-36-14 M36X2 22 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 445 50 46
10311-52-24 M52X2 40 24 47.5 22 55
10311-64-32 M64X2 50 32 525 27 65
L EIRR S TS . 2. tFEH TS5 50 10312-XX-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 10312-XX-XX.

14



WAL HOSE FITTING

[y A [y A
S TT e
HjU_UJUUUUU_L 44_\_U_\MUUL|U_\,
NC ) R A BB
METRIC FEMALE FLAT SEAT
20211 20211-T
. TR T
Ky REE Tae | RE A c | s
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 16 8.5 19
20211-14-05 M14X1.5 8 05 15.5 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 17 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 17.5 8 24
20211-18-06 M20X1.5 10 06 18.5 8 24
2021-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18.5 10 27
2021-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 19.5 10 27
20211-22-10 M22X1.5 16 10 19.5 10 27
2021-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
2021-27-08T M27X1.5 12 08 18.5 10 32
2021-27-10T M27X1.5 16 10 21 10 32
20211-30-12 M30X1.5 20 12 22 11 36
20211-33-14 M33X2 22 14 21.5 13 41
2021-36-12T M36X2 20 12 24 13 41
2021-36-14T M36X2 22 14 24 13 41
20211-39-16T M39X2 25 16 25 13 46
20211-42-20W M42X2 32 20 25 15 50
2021-45-20T M45X2 32 20 27 15 55
2021-52-24T M52X2 40 24 27 17 60
2021-60-28T M60X2 45 28 26 20 70
2021-64-32T M64X2 50 32 26 23 75

VE L ERASHTMARE. 2. Wil FEseiiE 0 B 20212-xx-Xx.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 20212-XX-XX.

IGS

15



WAL HOSE FITTING

45° A BIPIRECT
45° METRIC FEMALE FLAT SEAT
20241-T
o | wmee oo B AN
A A [ c [ A s
2024114-04 M14X1.5 6 04 38 8.5 19 19
2024114-05 M14X1.5 8 05 42.7 8.5 19.3 19
2024116-05 M16X1.5 8 05 42.3 8.5 20.7 22
2024118-06 M18X1.5 10 06 45.5 8 22 24
2024122-08 M22X1.5 12 08 57.5 10 245 27
2024127-10T M27X1.5 16 10 58 10 245 32
2024130-12T M30X1.5 20 12 74 11 30 36
2024136-12T M36X2 20 12 75 13 27.5 41
2024136-14T M36X2 22 14 77.3 13 27 41
2024136-16 M36X2 25 16 85.7 13 31.5 41
2024139-16T M39X2 25 16 82 13 30 46
2024142-20W M42X2 32 20 95.9 15 35.2 50
2024145-20T M45X2 32 20 94.5 15 35.5 99
2024152-20T M52X2 32 20 94.5 17 33.8 60
2024152-24T M52X2 40 24 105 17 38.5 60
2024160-28T M60X2 45 28 118.7 20 43.6 70
2024162-32T M64X2 50 32 127.8 23 45.6 75

E L RS HTFRARE . 2. HHTHESERENRS SN 20242-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 20242-XX-XX.

NGS

16



WAL HOSE FITTING

90°2 il N BRLCT- 1
90° METRIC FEMALE FLAT SEAT
20291 20291-T
o8 | mae 2 F AN

AW | bF 5 A C H S2
2029142-02 M12X1.25 4 02 26.5 8 30b 17
2029112-04 M12X1.25 6 04 30 8 33.5 17
2029114-04 M14X1.5 6 04 27.5 8.5 34 19
2029114-05 M14X1.5 8 05 33 8.5 37 19
2029116-04 M16X1.5 6 04 30 8 35 22
2029116-05 M16X1.5 8 05 31 8 39.5 22
2029116-06 M16X1.5 10 06 35.3 8 40.83 22
2029148-05T M18X1.5 8 05 33 8 39 24
2029118-06 M18X1.5 10 06 33 8 42 24
2029122-08 M22X1.5 12 08 42.5 10 49.5 27
2029122-10 M22X1.5 16 10 57.5 10 53 27
2029124-08T M24X1.5 12 08 41 11 45.5 30
2029127-04T M27X1.5 6 04 30 10 35.9° 32
2029127-08T M27X1.5 12 08 41 10 46 32
2029127-10T M27X1.5 16 10 48.5 10 51. 32
2029130-12 M30X1.5 20 12 50.5 11 63.5 36
2029133-14 M33X2 22 14 71.2 13 65 41
2029136-14T M36X2 22 14 57.5 13 64 41
2029136-16 M36X2 25 16 66 13 76. 41
2029139-16T M39X2 25 16 66 13 72.5 46
2029142-20W M42X2 32 20 915 15 80.5 50
2029145-20T M45X2 32 20 75 15 85 55
2029152-20T M52X2 32 20 915 17 78.5 60
2029152-24T M52X2 40 24 89 17 97 60
2029160-28T M60X2 45 28 119.9 20 106. 70
2029164-32T M64X2 50 32 130.95 23 113.3 75

L ERACS T E .

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

2. MFEH TSR E AT 20 20292-XX-XX

SERIES NUMBER IS 20292-XX-XX.

NGS

17



WAL HOSE FITTING

24"

A

L L

—
| Pt i b B A I 7

10411

NHIFMELL 24° HE 4% 551

. ALLLEIITE ISO 8434-1-DIN 3861
51 METRIC MALE 24°CONE SEAT L.T.
. ‘ TR o R T

1S BEE  Tme ] me | T c | sz
1041-12-04 M12X1.5 6 04 6 22 10 12
10411-14-04 M14X1.5 6 04 8 22 10 14
10411-14-05 M14X1.5 8 05 8 22 10 14
10411-16-04 M16X1.5 6 04 10 23.5 11 17
10411-16-05 M16X1.5 8 05 10 23.5 11 17
10411-16-06 M16X1.5 10 06 10 23.5 11 17
10411-18-05 M18X1.5 8 05 12 24 11 19
10411-18-06 M18X1.5 10 06 12 24 11 19
1041-22-06 M22X1.5 10 06 15 26.5 12 24
1041-22-08 M22X1.5 12 08 15 27 12 24
10411-26-08 M26X1.5 12 08 18 28.5 12 27
10411-26-10 M26X1.5 16 10 18 29.5 12 27
1041-27-10 M27X1.5 16 10 18 325 14 30
10411-30-10 M30X2 16 10 22 335 14 32
10411-30-12 M30X2 20 12 22 335 14 32
10411-36-16 M36X2 25 16 28 36 14 38
10411-45-20 M45X2 32 20 35 40 16 46
1041-52-24 M52X2 40 24 42 43 16 55

E L EBRRESHTRARE. 2. IHFHTHESRERS BN 10412-XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 10412-XX-XX.

NGS

18



A& HOSE FITTING

==

WMM

I NIREL 24°4E T O TR R 51
ISO 2151-2-DIN 3865

METRIC FEMALE 24° CONE O-RING L.T.

20411 20411-T
. L7 E e 1 , N ~
A=) 24 E ANE ] BT M O £l i = =

2041112-04 M12X1.5 6 04 6 004.5X1.% 25 1 1y
2041114-04 M14X1.5 6 04 8 006.5X1.5 | 26.5 2 19
2041114-06 M14X1.5 10 06 8 006.5X1.5  27.5 2 19
2041116-04 M16X1.5 6 04 10 008.0X1.5 27 2 22
2041116-05 M16X1.5 8 05 10 008.0X1.5 27 2 2P
2041116-06 M16X1.5 10 06 10 008.0X1.5 28 2 22
2041118-05T M18X1.5 8 05 12 010.0X1.5  25.5 1.5 22
2041148-06 M18X1.5 10 06 12 010.0XL.5 29 25 | 24
2041118-08 M18X1.5 12 08 12 010.0X1.65  29.5 25 24
2041122-05T | M22X1.5 8 05 15 012.0X 26.5 3 27
2041122-06T M22X1.5 10 06 15 012.0X2 28.5 3 27
2041122-08 M22X1.5 12 08 15 012.0X 325 | 25 | 27
2041126-10 M26X1.5 16 10 18 015.0X2 34.5 2. 3P
2041126-12 M26X1.5 20 12 18 015.0%2 345 | 25 | 32
2041130-10T M30X2 16 10 22 020.0X2 33 3.6 36
2041130-12 M30X2 20 12 22 020.0X2 36.5 4 36
2041136-12T M36X2 20 12 28 026.0X2 36 4.5 46
2041136-14T M36X2 22 14 28 026.0X2 365 | 45 | 46
2041145-16T M45X2 25 16 35 032.0X2 42 4 55
2041145-20T M45X2 32 20 35 032.0X2 43 4 55
2041152-20T M52X2 32 20 42 038.0X2 44.5 4 60
2041152-24T M52X2 40 24 42 038.0X2 44.5 4 60

1 RS TARE . 20 R AT RSEARE A0S X0 20412-xx-XX o

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20412-XX-XX.

19



WAL HOSE FITTING

2041 C 20411C-T

NI BREL 24°FKRTH 37 251

METRIC FEMALE MULTISEAL 24° CONE L.T.

. ® E e 1 N ~t
o WAL —maE | wme | O g c [ 2

20411C-12-04 M12X1.5 6 04 6 19.5 35 17
20411C-14-04 M14X1.5 6 04 8 20.5 35 19
20411C-16-04 M16X1.5 6 04 10 21 35 22
20411C-16-05 M16X1.5 8 05 10 21 35 22
20411C-16-06 M16X1.5 10 06 10 21 35 22
20411C-18-06 M18X1.5 10 06 12 225 3 24
20411C-22-06T M22X1.5 10 06 15 235 4.5 27
20411C-22-08 M22X1.5 12 08 15 24 4.5 27
20411C-26-10 M26X1.5 16 10 18 27 4 32
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-30-12 M30X2 20 12 22 27 7 36
20411C-30-14 M30X2 22 14 22 27 7 36
20411C-36-16 M36X2 25 16 28 29 6.5 41
20411C-45-20T M45X2 32 20 35 33 7 55
20411C-52-24T M52X2 40 24 42 34 8 60

F L BERAS TR . 20 R TSRS SO 20412C-xx-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20412C-XX-XX.

20



WAL HOSE FITTING

20441-T

A5°N I N B L 24°%E 4 O TE Bl 2241
ISO 12151-2-DIN 3865
45° METRIC FEMALE 24° CONE L.T.

. LN =i N . R F
R 5 IRA E e B HTHME | OJBH 5 c e

20441-1204 M14X1.5 6 04 8 006.5X1.p 45 2 26 19
20441-1605 M16X1.5 8 05 10 008.0XL.5| 495 2 27.8 | 22
20441-1606 M16X1.5 10 06 10 008.0X1)5 51.3 p. 278 22
20441-1805T M18X1.5 8 05 12 010.0XL.5| 44.7 | 1.5 | 23.2 | 22
20441-1806 M18X1.5 10 06 12 010.0X1)5 53 25 29 24
20441-2205T M22X1.5 8 05 15 012.0X2 3 27
20441-2206T M22X1.5 10 06 15 012.0X2 49 3 2583 27
20441-2208 M22X1.5 12 08 15 012.0X2 66.5 | 2.5 34 27
20441-2608T M26X1.5 12 08 18 015.0X2 61 2.1 28 32
20441-2610 M26X1.5 16 10 18 015.02 70 2.5 36 32
20441-2612 M26X1.5 20 12 18 015.0X2 2.5 3p
20441-3010T M30X1.5 16 10 22 020.0X2 64 3.8 30 36
20441-3012 M30X1.5 20 12 22 020.0X2 84.5 4 40(5 36
20441-3612T M36X1.5 20 12 28 028.02 79.3 | 45 | 355 | 46
20441-3614T M36X2 22 14 28 028.0X2 4.5 46
20441-4520T M45X2 32 20 35 035.0%2 | 101.8 | 4 424 | 55
20441-5220T M52X2 32 20 42 042.0X2 4 466 60
20441-5224T M52X2 40 24 42 042.0X2 113 4 60

L ESCS RO . 2. Wil TS A0S O 20412-x¢-xxXo

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20412-XX-XX.

21



WAL HOSE FITTING

20491-T

Q0° /N | N IB L 24°%E 7 O TEIE 3 £ 41
ISO 12151-2-DIN 3865
90° METRIC FEMALE 24° CONE O-RING

. , 79 =4 ” . - ;

)% | mmE Wﬁ; S T | oM — f : =
20491412-03 M12X1.5 5 03 6 004.5X1.5 25.6 1 345 17
2049112-04 M12X1.5 6 04 6 0045X1.5 | 27.5 1 43 17
2049114-04 M14X1.5 6 04 8 006.5X1.5 27.5 2 44 .5 19
2049116-04 M16X1.5 6 04 10 0O080X1.5 | 27.5 2 45 22
2049116-05 M16X1.5 8 05 10 008.0X1.5 31 2 495 22
2049116-06 M16X1.5 10 06 10 0O080X1.5 33 2 50.5 22
2049118-05T M18X1.5 8 05 12 010.0X1.5 31 1.5 43 22
20491418-06 M18X1.5 10 06 12 0100X1.5 33 2.5 525 24
2049122-06T M22X1.5 10 06 15 012.0X2.0 33 3 47 27
2049122-08 M22X1.5 12 08 15 0120X2.0 | 425 2.5 62.5 27
2049126-08T M26X1.5 12 08 18 015.0X2.0 42.5 2.1 54.5 32
2049126-10 M26X1.5 16 10 18 0150X2.0 | 48.5 2.5 68 32
2049126-12 M26X1.5 20 12 18 015.0X2.0 50.5 2.5 76 32
2049130-10T M30X2 16 10 22 0200X2.0 | 48.5 3.8 595 36
2049130-12 M30X2 20 12 22 020.0X2.0 50.5 4 78 36
2049136-12T M36X2 20 12 28 0260X2.0 | 50.5 4.5 71 46
2049136-14T M36X2 22 14 28 026.0X2.0 4.5 46
2049145-16T M45X2 25 16 35 0320X2.5 66 4 83 55
2049145-20T M45X2 32 20 35 032.0X2.5 75 4 95 55
2049152-20T M52X2 32 20 42 0380X2.5 75 4 96.5 60
2049152-24T M52X2 40 24 42 038.0X2.5 89 4 108.5 60

L RS TR, 2. il H a5 {05 B0 204922-xx-xX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SE
NUMBER IS 20492XX-XX.

RIES

22



WAL HOSE FITTING

20491C 20491C-T
90° Al NBREL 24° BRIHAE RS
90°METRIC FEMALE 24° CONE
MULTISEAL L.T.
_ , L7¢ E o 1 R ~F
IS Bl AR | b 5 T A C H S2
20491C-14-04 M14X1.5 6 04 8 30 35 395 19
20491C-16-04 M16X1.5 6 04 10 30 | 35 | 40 22
20491C-16-05 M16X1.5 8 05 10 33 3.5 43 22
20491C-16-06 M16X1.5 10 06 10 3525 35 | 452 | 22
20491C-18-06 M18X1.5 10 06 12 35.25 3| 47.2524
20491C-22-08 M22X1.5 12 08 15 41 | 45 | 53 27
20491C-26-10 M26X1.5 16 10 18 56.5 4 60 32
20491C-30-12 M30X2 20 12 22 65.5| 7 385 | 36
20491C-36-12T M36X2 20 12 28 655 6.5 | 67.5| 41
F L BRI TwARE . 2. FHH THSHE R TN 20491C-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20492C-XX-XX.

23



WAL HOSE FITTING

a 10511
i - AL 24° T TR
- T ISO-84341—DIN 3861
— dt& METRIC MALE 24° CONE SEAT H.T.
. ‘ W " R
s WIE Towme] e | R A [ c [ st
10511-14-04 M14X1.5 6 04 6 24 12 14
10511-16-04 M16X1.5 6 04 8 24.5 12 17
10511-18-04 M18X1.5 6 04 10 25 12 19
10511-20-05 M20X1.5 8 05 12 26 12 22
10511-20-06 M20X1.5 10 06 12 26 12 22
10511-22-05 M22X1.5 8 05 14 28.5 14 24
10511-22-06 M22X1.5 10 06 14 285 14 24
10511-22-08 M22X1.5 12 08 14 29 14 24
10511-24-08 M24X1.5 12 08 16 30 14 217
10511-30-10 M30X2 16 10 20 35.5 16 32
10511-30-12 M30X2 20 12 20 355 16 32
10511-36-12 M36X2 20 12 25 38.5 18 38
10511-36-16 M36X2 25 16 25 40 18 38
10511-42-16 M42X2 25 16 30 43 20 46
10511-42-20 M42X2 32 20 30 44 20 46
10511-52-20 M52X2 32 20 38 48 22 55

E: L ERACS T RWARE. 2. il TS CE 580 20512-Xxx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 10512-XX-XX.

NGS

24



&L HOSE FITTING

L 5 .
’f% ) S AP IBLL
F{E—UMMUU r— ISO 12151-2—DIN 386
e METRIC FEMALE 24° CONE
O-RING H.T.
20511 20511-T
5 e e R I e
20511-14-04 M16X1.5 6 04 6 004.5X1.5 27415 | 19
20511-16-04 M16X1.5 6 04 8 0O065X1.5 | 275 | 15| 22
20511-16-05 M16X1.5 8 05 8 006.5X1.5 27p15 | 22
20511-18-04T M18X1.5 6 04 10 0080X1.5 26 15| 22
20511-18-06 M18X1.5 10 06 10 008.0X1.p 295 2 24
20511-20-06T M20X1.5 10 06 12 0100X15 | 275 | 25| 24
20511-20-08 M20X1.5 12 08 12 010.0X1.p 31525 | 27
20511-22-06T M22X1.5 10 06 14 011.0X2.0 | 28.5 3 27
20511-22-08 M22X1.5 12 08 14 011.0X2.0 32525 | 27
20511-24-06T M24X1.5 10 06 16 0130X2.0 27 3 30
20511-24-08T M24X1.5 12 08 16 013.0X2.90 30 3 30
20511-30-10T M30X2 16 10 20 0163X2.4 | 335 | 25| 36
20511-30-12 M30X2 20 12 20 016.3X2.4 37 3 36
20511-36-12T M36X2 20 12 25 0203X2.4 37 3.2 | 46
20511-36-14T M36X2 22 14 25 020.3X2.4 37 31246
20511-42-12T M42X2 20 12 30 0253X2.4 | 375 | 39| 50
20511-42-16T M42X2 25 16 30 025.3X2.4 41 31950
20511-52-20T M52X2 32 20 38 0333X2.4 44 45| 60
20511-52-24T M52X2 40 24 38 033.3X2.4 44 4,560
T L LRSI RO . 2. I T ARG L S0 20512-00x.
NOTE : 1. FOR USE W|TH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S20512-XX-XX.

25



WAL HOSE FITTING

20511C 20511C-T
NI BRZL 24° BRTH £ 5]
METRIC FEMALE 24° MULTISEAL H.T.
- ‘ W& o R
I BAE  Twme] we | T A T c [ s2
20511 C-18-04T M18X1.5 6 04 10 21 3 22
20511 C-20-05T M20X1.5 8 05 12 21.5 4.5 24
20511 C-20-06T M20X1.5 10 06 12 21.5 4.5 24
20511 C-22-06T M22X1.5 10 06 14 21.5 4.5 27
20511 C-24-08T M24X1.5 12 08 16 23 5 30
20511 C-30-10T M30X2 16 10 20 26.5 7 36
2051 C-36-12T M36X2 20 12 25 27 6.5 41
2051 C-42-16T M42X2 25 16 30 29.5 9 50
20511C-52-20T M52X2 32 20 38 34 8 60

E: 1 ERACS T MR .

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

2. MFHTHSHRE RS8N 20512C-XX-XXo

SERIES NUMBER 1S520512C-XX-XX.

NGS

26



WAL HOSE FITTING

45° il IR Er

24° HEAY 0 LB H &R )
ISO 12151-2-DIN

45°METRIC FEMALE

24°CONE O-RING H.T.

= | mseE waﬁé T | omE | — }2 : =
2054114-04 M16X1.5 6 04 6 004.5X1.5 46 1.5 27 19
2054116-04 M16X1.5 6 04 8 0O065X1.5 46 1.5 27 22
2054116-05 M16X1.5 8 05 8 006.5X1.5 495 15 28.1 22
2054148-04T| M18X1.5 6 04 10 O080X15 | 415 15 22.5 22
2054148-06 M18X1.5 10 06 10 008.0X1.5 53 2 295 24
2054120-06T| M20X1.5 10 06 12 0100X1.5 | 485 2.5 25 24
2054120-08 M20X1.5 12 08 12 010.0X1.5 65.9 25 33 27
2054122-06T| M22X1.5 10 06 14 011.0X2.0 | 48.9 3 25.3 27
2054122-08 M22X1.5 12 08 14 011.0X2.0 66.5 2.5 34 27
2054124-08T| M24X1.5 12 08 16 0130X2.0 | 61.3 3 28.5 30
2054130-10T M30X2 16 10 20 0163X2.4 | 64.5 25 30.8 36
2054130-12 M30X2 20 12 20 0163X2.4 | 845 3 41 36
2054136-12T M36X2 20 12 25 0203X2.4 80 3.2 36 46
2054136-14T M36X2 22 14 25 0203X2.4 3.2 46
2054142-16T M42X2 25 16 30 0253X2.4 | 89.4 3.9 375 50
2054152-20T M52X2 32 20 38 0333X2.4 102 4.5 42.8 60
2054152-24T M52X2 40 24 38 033.3X2.4 4.5 60
L ERRS HTRARE . 2. WFiEH TSRS EON 20542-XX-XX .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER 1S20542-XX-XX.

27



WAL HOSE FITTING

20541C 20541C-T

45° NI RS 24° BRI FR %)) DIN386S
45° METRIC FEMALE 24° MULTISEAL H.T.

~ | & v 1t R+
5 | BRE Tome] me | e Al c | s
20541C-16-04 M16X1.5 6 04 8 448 3 22.7 19
20541C-18-04T| M18X1.5 6 04 10 43.7 3 21.6 22
20541C-20-06T M20X1.5 10 06 12 48.9 45 24.6 24
20541C-24-08T| M24X1.5 12 08 16 61.4 2.5 26.5 30

E L ERACT T RARE . 2. TS s A5 208 20542Cxx-XXo

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER 1S20542C-XX-XX.

28



WAL HOSE FITTING

o 3}'::.--'.‘.%.\\2::}.'\_1-&
230
28

e

HET
T

90°

P AR

24° HEAY 0 L PE B R4
ISO 12151-2-DIN 3865

: 90°METRIC FEMALE 24°CONE
O-RING H.T.
20591-T
® E R ~
A= IBLLE AHWERE | 5 ETIME OJEkE | A C H S
2

2059114-04 M16X1.5 6 04 6 004.5X1.%5 27.515| 454 | 19
2059116-04 M16X1.5 6 04 8 0065X1.5 | 275 | 1.5 | 455 | 22
20591416-05 M16X1.5 8 05 8 006.5X1.%5 31 15 50 22
2059148-05T M18X1.5 8 05 10 0080X1.5| 31 | 15| 435 | 22
2059118-06 M18X1.5 10 06 10 008.0X1.6 33 D 583 24
2059120-06T M20X1.5 10 06 12 0100X1.5 | 33 | 25| 465 | 24
2059120-08 M20X1.5 12 08 12 010.0X1.56 42525 | 615 | 27
2059122-06T M22X1.5 10 06 14 011.0X2.0 | 33 3| 47 | 27

2059122-08 M22X1.5 12 08 14 011.0X2.0 425 | 25| 625 | 27
2059124-08T M24X1.5 12 08 16 0130X2.0 | 425 | 3| 55 | 30

2059124-10 M24X1.5 16 10 16 013.0X2.0 485525| 68 | 30
2059130-10T M30X2 16 10 20 0163X2.4 | 485 | 25| 60.5 | 36

2059130-12 M30X2 20 12 20 016.3X2.4 505 3 | 785 | 36
2059136-12T M36X2 20 12 25 0203X2.4 | 505 | 32| 72 | 46
2059136-14T M36X2 22 14 25 020.8X2.4 576532 | 74 | 46
2059142-16T M42X2 25 16 30 0253X2.4 | 66 | 39| 83 | 50
2059152-20T M52X2 32 20 38 0333X24 75 4|5 955 B0
2059152-24T M52X2 40 24 38 0333X2.4 | 93 | 45| 107.5| 60
F L ERASH TRARE . 2. WA TSR E S0 20592-x%-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20592-XX-XX.

29



WAL HOSE FITTING

20591C 20591C-T

90° AHINIRG 24° BRHTE RS
90° METRIC FEMALE 24° MULTISEAL H.T.

. L7 E e 1 N ~F

5 IR E yE TR p—— HIME A c o Tso
2059X-16-04 | M16X1.5 6 04 8 30 3 40 | 22
20591C-18-04T | M18X1.5 6 04 10 30 3 385 | 22
20591C-20-05T | M20X1.5 8 05 12 33 | 45 | 42 | 24
20591C-20-06T | M20X1.5 10 06 12 353 | 45 | 457 | 24
20591C-22-06T | M22X1.5 10 06 14 353 | 45 | 447 | 27
20591C-24-08T | M24X1.5 12 08 16 41 5 52 | 30
20591C-30-10T | M30X2 16 10 20 56.5 | 7 56.5 | 36
20591C-36-12T | M36X2 20 12 25 655 | 6.5 | 66.5 | 41
20591C-42-16T | M42X2 25 16 30 78 9 735 | 50
20591C-52-20T | M52X2 32 20 38 93 8 87.5 | 60

E L ERACS T RWARE . 2. a5 A5 808 20592C-xx-xXo

SERIES NUMBER 1S20592C-XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

NGS

30



WAL HOSE FITTING

A
C 10611
- N - IHIIMES 60° P HET BN fi i
Els I FH & B 1 WP 43k
METRIC MALE DOUBLE USE FOR 60°
5 Y . S AN
INFRINAE br 5 A C S1
10611-14-04 M14X1.5 6 04 235 11 19
10611-14-06 M14X1.5 10 06 25 11 19
10611-16-04 M16X1.5 6 04 2 22
10611-16-05 M16X1.5 8 05 27.5 12 22
1061-18-06 M18X1.5 10 06 295 12 24
10611-22-06 M22X1.5 10 06 30.5 14 27
10611-22-08 M22X1.5 12 08 31 14 27
10611-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 35 16 32
10611-27-10D M27X1.5 16 10 35 16 32
10611-27-10 M27X1.5 16 10 37 18 32
10611-30-12D M30X2 20 12 38 18 36
10611-30-12 M30X2 20 12 38 18 36
10611-33-16 M33X2 25 16 43 20 46
10611-42-20 M42X2 32 20 46 20 50
10611-45-20 M45X2 32 20 46 20 55
10611-48-24 M48X2 40 24 46 20 55
10611-52-24 M52X2 40 24 46 20 60

E: LERASHTMARE. 2. HHTHESRER SO 10612XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 10612-XX-XX.

NGS

31



WAL HOSE FITTING

\:‘:w
!ﬁ}r\}}m, S —
}_.LEU_[LUULIULHJ_L_

NHIFN IR 60°
METRIC FEMALE 60°CONE

20611 20011-T
B S . S AN
AMRNEE | br 5 A C S2
20611-14-04 M14X1.5 6 04 19 55 19
20611-16-05 M16X1.5 8 05 19.5 55 22
20611-16-06 M16X1.5 10 06 19 5.5 22
20611-18-06 M18X1.5 10 06 21 55 24
20611-20-08 M20X1.5 12 08 22 6.5 27|
20611-22-08 M22X1.5 12 08 23.5 6 27
20611-24-10 M24X1.5 16 10 248 6.5 30
20611-26-10 M26X1.5 16 10 25 6 32
20611-27-10DT M27X1.5 16 10 25.5 6 32
20611-27-10T M27X1.5 16 10 25.5 6 32
20611-30-10D M30X2 16 10 265 6 36
20611-30-12D M30X2 20 12 26.5 6 36
20611-30-12 M30X2 20 12 27 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60

E L ERACS T RWARE . 2. Wl TS CE 05 500 20612-Xx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER 1520612-XX-XX.

NGS

32



WAL HOSE FITTING

90° AHISAIREL 607 SMEH
90°METRIC FEMALE 60°CONE

20691 20691-T
g poe o L
AFRHRAE | b5 5 A C H S2
2061-14-04 M14X1.5 6 04 s e 19
20611-16-05 M16X1.5 8 05 31 | 55 | 42 22
20611-18-06 M18X1.5 10 06 33 5.5 445 24
20611-22-08 M22X1.5 12 08 425 | 6 | 535 | 27
2061-27-10DT M27X1.5 16 10 56 6 55 32
20611-30-12D M30X2 20 12 66.2 | 6 68.5 | 36
20611-36-16 M36X2 25 16 78 6.5/ N7 6L NS A1)
20611-36-14T M36X2 22 14 712 | 65 | 675 | 41
20611-39-16T M39X2 25 16 76.7 65 | 74 46
20611-45-20T M45X2 32 20 915 | 85 | 85 55
20611-52-24T M52X2 40 24 109.4 10 99 60
# L BRSSP wESRE . 2. T TFESERE RSSO 20692-XX-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S20692-XX-XX.

33



WAL HOSE FITTING

A
j,/'/%

S

10711

[ e 2 ISR S 74° SMHEIH]

5l METRIC MALE 74°CONE
= I . S K
AFRHRAE | b5 5 A C S1
10711-10-02 M10X1 4 02 ParEe 19 Bor
1071-10-03 M10X1 5 03 23 | 125 | 14
1071-12-03 M12X1.5 5 03 26.5 15.7 | 14
10711-12-03C M12X1.25 5 03 245 | 14 | 14
10711-14-04 M14X1.5 6 04 305 18 | 17
10711-14-06 M14X1.5 10 06 305 | 18 | 17
10711-16-05 M16X1.5 8 05 B 1 o
10711-16-06 M16X1.5 10 06 315 | 19 | 17
10711-18-06 M18X1.5 10 06 32 19 19
10711-22-08 M22X1.5 12 08 345 | 195| 24
10711-24-08 M24X1.5 12 08 365| 20 | 27
1071-27-10 M27X1.5 16 10 39 | 205 | 30
1071-30-12 M30X2 20 12 425 | 23 | 32
10711-30-12E M30X2 20 12 455 | 26 | 32
1071-33-12 M33X2 20 12 465 | 26 | 36
10711-36-14 M36X2 22 14 47 | 26 | 38
1071-39-16 M39X2 25 16 50 | 275 | 41
10711-42-20 M42X2 32 20 525 | 285 | 46
10711-45-20 M45X2 32 20 52.5 28.5 | 46
L ERARSHTREAKE . 2. WFFHTEZRER TSN 10712-X%-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S10712-XX-XX.




WAL HOSE FITTING

B bR 28 Tl N R 74° N HE
METRIC FEMALE 74°CONE SEAT

20711 20711-T
= BoE o e J
NS by = A C S2
20711-10-02 M10X1 4 02 14 7S 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 M12X1.5 5 03 14 10 17
20711-12-04 M12X1.5 6 04 15 10 17
20711-14-04 M14X1.5 6 04 16 8.5 19
20711-14-05 M14X1.5 8 05 15.5 8.5 19
20711-14-06 M14X1.5 10 06 15.5 8.5 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 17 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
20711-18-06 M18X1.5 10 06 18.5 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 18.5 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 19.5 10 27
20711-22-10 M22X1.5 16 10 19 10 27
20711-24-08T M24X1.5 12 08 16.5 11 30
2071-27-08T M27X1.5 12 08 1853 11 32
20711-27-10T M27X1.5 16 10 21 11 32
20711-27-12 M27X1.5 20 12 21.5 11 32
2071-30-10T M30X1.5 16 10 18 11 36
20711-30-12 M30X1.5 20 12 22 11 36)
2071-33-10T M33X2 16 10 19.5 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 21.5 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 24 14 41
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 25 14 46
2071-42-16T M42X2 25 16 23.5 15 50
20711-42-20W M42X2 32 20 24.5 15 50
20711-45-20T M45X2 32 20 27 15 55
2071-52-24T M52X2 40 24 27 17 60
Vo L RO T FRAE . 2 T RSB oOh 20712-00x,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20712-XX-XX.

35



WAL HOSE FITTING

20741

45° [ Rl NIREC 740 HENR
45°METRIC FEMALE 74°CONE SEAT

L7 =4 R ~f
(A= IRELE N br 5 A C H S2
%
2074144-04 M14X1.5 6 04 38 8.5 19 19
2074146-05 M16X1.5 8 05 42.3 8 20.7 22
2074148-06 M18X1.5 10 06 45.5 10 22 24
2074122-08 M22X1.5 12 08 57.5 10 24.5 27
2074127-10 M27X1.5 16 10 60 14 26.5 32
2074130-12 M30X1.5 20 12 74 11 30 36
2074133-12 M33X2 20 12 77.4 13 30 41
2074133-16 M33X2 25 16 85 13 30.8 41
2074136-14 M36X2 22 14 79.8 14 29.6 4
2074136-16 M36X2 25 16 85.7 14 31.5 41
2074139-16 M39X2 25 16 85 14 33 46
2074145-20W M45X2 32 20 97 15 36.2 55
2074152-24W M52X2 40 24 115.3 17 40.9 60
F L ERS A TRARE . 2. FHH THESHE R SN 20742-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20742-XX-XX.

36



WAL HOSE FITTING

90° [EFrathlNmgaar 74° N HEH

20791

90°METRIC FEMALE 74°CONE SEAT

L7 =4 R ~f
(A=) R4 E AFRH br 5 A C H S2
%
2079142-04C M12X1.25 6 04 30 9 33.5 17
2079142-04 M12X1.5 6 04 30 10 335 17
2079114-04 M14X1.5 6 04 275 8.5 34 19
2079146-04 M16X1.5 6 04 30 8 35 22
2079146-05 M16X1.5 8 05 31 8 39.5 22
2079148-06 M18X1.5 10 06 33 10 42 24
2079122-08 M22X1.5 12 08 42.5 10 49.5 27
2079122-10 M22X1.5 16 10 56 10 52.5 27
2079127-10 M27X1.5 16 10 48.5 11 54.5 32
2079130-12 M30X1.5 20 12 50.5 11 63.5 36
2079133-12 M33X2 20 12 65.5 13 63.5 41
2079133-16 M33X2 25 16 66 13 75.5 41
2079136-12 M36X2 20 12 65.5 124 63.5 41
2079136-14 M36X2 22 14 71.2 14 64.5 41
2079139-16 M39X2 25 16 66 14 76.5 46
2079145-20W M45X2 32 20 91.5 15 83 55
2079152-20W M52X2 32 20 93 17 84.5 60
2079152-24W M52X1.5 40 24 110.7 17 96.5 60
F L ERS A TwARE . 2. FHH THESHE R TN 20792-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20792-XX-XX.

37



WAL HOSE FITTING

&

i

A %WW

10811L

NSRS 90° AT

o i [
METRIC MALE 90°CONE
f 8 | — S A

NIRPARE ] A C H S2
10811L-12-04 M12X1.5 6 04 46 34 17 17
10811L-12-04A M12X1 6 04 445 | 32.5 17 17
10811L-14-04 M14X1.5 6 04 46 34 17 19
10811L-14-06 M14X1.5 10 06 46.5 34 17 19
10811L-16-04 M16X1.5 6 04 46.59 34 19 22
10811L-16-06 M16X1.5 10 06 46.5 34 22 22
10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 57.5 40 27 27
10811L-22-08 M22X1.5 12 08 62.5 45 27 27

38



WAL HOSE FITTING

A

i d

LM

L

.
1

>SN

ISES

O A MR ECER T

METRIC FEMALE MULTISEAL

20111 20111-T
" e B S
AFRNAE br 5 A C S2
20111-10-03 M10X1 5 03 18 2.5 14
20111-10-04 M10X1 6 04 18 25 14
20111-12-04 M12X1.5 6 04 183 4 ik
20111-12-05 M12X1.5 8 05 185 | 4 17
20111-14-04 M14X1.5 6 04 20 4.5 19
20111-14-05 M14X1.5 8 05 195 | 45 19
20111-16-04 M16X1.5 6 04 20.3 45 22
20111-16-05 M16X1.5 8 05 205 | 45| 22
20111-16-06 M16X1.5 10 06 20 4.5 22
20111-18-05T M18X1.5 8 05 215 | 4 24
20111-18-06 M18X1.5 10 06 225 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 235 55 24
20111-20-08 M20X1.5 12 08 23 55 27
20111-22-06T M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 245 | 5 27
20111-22-10 M22X1.5 16 10 245 5 2%
20111-24-08T M24X1.5 12 08 22 55 | 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-08DT M27X1.5 12 08 23 55 | 32
204045220k M27X1.5 16 10 26 5.5 32
20111-27-12D M27X1.5 20 12 26 55 | 32
20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 265 | 6 36
20111-30-12 M30X2 20 12 26 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7, 41
20111-39-14T M39X2 22 14 285 | 7 46
20111-39-16T M39X2 25 16 34 7 46
20111-42-16T M42X2 25 16 30 85 | 50
20111-45-20T M45X2 32 20 31 85 | 55
20111-52-20T M52X2 32 20 33 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 35 14 75

T LRSS TV
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20112-XX-XX.

2. WMFHHTFHSEHRAE AT 20 20112-XX-XX o

39



WAL HOSE FITTING

45° NN BB SCER T

45° METRIC FEMALE MULTISEAL

20141 20141-T
. o . L7 1 ~F
(A~ IRELE e e A v -
2014140-03 M10X1 5 03 41.1 20.7 14
2014140-04 M10X1 6 04 43.2 21.5 14
2014142-03 M12X1.5 5 03 40.9 21.2 17
2014142-04 M12X1.5 9 04 43 22 17
2014144-04 M14X1.5 6 04 43.4 21.3 19
2014144-05 M14X1.5 8 05 45.5 22.2 19
2014146-04 M16X1.5 6 04 44.7 23.2 22
2014146-05 M16X1.5 8 05 45.8 22.5 22
2014146-06 M16X1.5 10 06 47 .4 24.1 22
2014148-05T M18X1.5 8 05 46.8 22.6 24
2014148-06 M18X1.5 10 06 48.5 24.2 24
2014148-08 M18X1.5 12 08 52.2 25.7 24
2014120-06T M20X1.5 10 06 48.2 23.9 27
2014120-08 M20X1.5 12 08 62.1 27.2 27
2014122-06T M22X1.5 10 06 58.4 25.7 27
2014122-08 M22X1.5 12 08 62.1 27.2 27
2014124-08T M24X1.5 12 08 61.1 26.1 30
2014124-10 M24X1.5 16 10 75.4 29.6 30
2014127-10DT M27X1.5 16 10 74.4 29.6 32
2014127-10T M27X2 16 10 74.4 29.6 32
2014130-12D M30X1.5 20 12 80.9 335 36
2014130-12 M30X2 20 12 80.9 33.5 36
2014136-14T M36X2 22 14 83 32.64| 41
2014139-16T M39X2 25 16 88.2 33.95| 46
2014145-20T M45Xx2 32 20 99.1 38.4 55
2014152-24T M52X2 40 24 114.1 43.4 60
T L ERRESHTREARE. 2. WFHTESRENRTEA 20142-XX-XX .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20142-XX-XX.

40



WAL HOSE FITTING

90° il MRS EKR H
90° METRIC FEMALE MULTISEAL

20191
LN =i N i
m 5 1RSE NN BT A C H S2
(&
2019110-03 M10X1 5 03 27 2.5 35% 14
2019112-04 M12X1.5 6 04 30 4 37.5 17
2019114-04 M14X1.5 6 04 27.5 4.5 38 19
2019114-05 M14X1.5 8 05 33 4.5 41 19
2019116-04 M16X1.5 6 04 27.5 4.5 38.6 19
2019116-05 M16X1.5 8 05 31 4.5 43 22
2019116-06 M16X1.5 10 06 35.3 4.5 43.8 22
2019148-05T M18X1.5 8 05 31 4 43 24
2019118-06 M18X1.5 10 06 35.3 4 458 24
2019118-08 M18X1.5 12 08 40.5 4 50.5 24
2019120-06T M20X1.5 10 06 35.3 5.5 43.8B 24
2019120-08 M20X1.5 12 08 41 5.5 52 27
2019122-06T M22X1.5 10 06 35.8 5 76.8 27
2019122-08 M22X1.5 12 08 42.5 5 54.5 27
2019124-08T M24X1.5 12 08 41 5.5 51 30
2019124-10 M24X1.5 16 10 58 5 58.5 30
2019127-10DT M27X1.5 16 10 56 5.5 55.5 32
2019127-10T M27X2 16 10 56 55 | 555 32
2019130-12D M30X1.5 20 12 67.5 6 68.5 36
2019130-12 M30X2 20 12 67.5 6 68.5 36
2019136-12T M36X2 20 12 65.5 7 68 41
2019136-14T M36X2 22 14 71.2 7 69 4
2019139-16T M39X2 25 16 76.7 7 735 14
2019145-20T M45X2 32 20 91.5 8.5 85 655
20191562-24T M52X2 40 24 109.4 9 10( 60
2019164-32T M64X2 50 32 131.75| 14 | 1223| 75
E LEBRCS RO . 2. Wil TS A0S B0 20192-xx-xXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20192-XX-XX.

41



WAL HOSE FITTING

50011
~iRENXEE
DIN2353

o METRIC STANDPIPE STRAIGHT
L7¢ W
A=) HTIMED A br 5 A C % IE
%

50011-06-03 6 5 03 28.5 22
50011-06-04 6 6 04 29 22
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 32.5 23
50011-12-08 12 12 08 33 23
50011-15-06 15 10 06 35.5 25
50011-15-08 15 12 08 35.5 25 75
50011-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 41 26
50011-22-10 22 16 10 44 28
50011-22-12 22 20 12 44 28
50011-22-16 22 25 16 46 28
50011-28-16 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 04 31 24
50011-08-05 8 8 05 33 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 33 26
50011-12-04 12 6 04 345 26
50011-12-05 12 8 05 35.5 26
50011-14-06 14 10 06 39.5 29
50011-14-08 14 12 08 40 29
50011-14-12 14 20 12 455 29
50011-16-08 16 12 08 40.5 30 HARY
50011-16-10 16 16 10 455 30
50011-20-10 20 16 10 52 36
50011-20-12 20 20 12 52.5 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50

L ERACS T . 2. s M Ese s A4S B0 50012-Xx-XX

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER 1S 50012-XX-XX.

42



WAL HOSE FITTING

50091
0° AflkEXHE
90° METRIC STANDPIPE STRAIGHT
DIN2353

_ e 1 % & R Rl .

= RIMED T W 5 A c H o
50091-06-03 6 5 03 26.5 22 42.5
50091-06-04 6 6 04 30 22 455
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 35.3 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 1) 10 06 35.36 23 53.8
50091-12-08 12 12 08 41 23 59
50091-15-06 15 10 06 35.3 25 53.8 BRI
50091-15-08 15 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 22 20 12 65.5 28 76
50091-22-16 22 25 16 76.7 28 81.5
50091-28-16 28 25 16 76.7 30 83.5
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 04 30 24 475
50091-10-04 10 04 30 26 49,5
50091-12-04 12 04 30 26 49,5
50091-12-05 12 05 33 26 52.5
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64
50091-16-10 16 16 10 56.5 30 68.5 .
50091-20-10 20 16 10 56.5 36 745
50091-20-12 20 20 12 65.5 36 85
50091-25-12 25 20 12 65.5 40 89
50091-25-16 25 25 16 76.7 40 935
50091-30-16 30 25 16 76.7 40 935
50091-30-20 30 32 20 915 44 108.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 114.5

T L ERACS T W .

NUMBER 1S50092-XX-XX.

2. it P ARGE A A B 50092-X%-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

43



WAL HOSE FITTING

o 51011

g | i e 2 1

s I{.ﬁ‘éf A
BSP STANDARD PIPE
. o W W R
iy RFMED e |k B Al C

51011-04-03 4 5 27 17
51011-06-03 6 5 30.5 19
51011-06-04 6 6 31 19
51011-08-04 8 6 31 19
51011-08-05 8 8 315 19
51011-08-06 8 10 32 19
51011-10-04 10 6 35 22
51011-10-05 10 8 35 22
51011-10-06 10 10 35 22
51011-12-05 12 8 35 22
51011-12-06 12 10 35 22
51011-14-06 14 10 35 22
51011-14-08 14 12 355 22
51011-16-06 16 10 35 22
51011-16-08 16 12 36 22
51011-16-10 16 16 36.5 22
51011-16-12 16 20 38 22
51011-18-12 18 20 41.5 24
51011-22-12 22 20 45 28
51011-22-14 22 22 45 28
51011-28-16 28 25 49 30
51011-34-20 34 32 53 33
51011-42-24 42 40 57 35

E L ERRSHTFRAKE. 2. FH TSR ENRSECN 51012-XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER 1S51012-XX-XX.




WAL HOSE FITTING

e
T S e R,

51091

90° [prREXEE

90°BSP STANDARD PIPE

. o W W R
iy RIHMED Doee | B Al cl H
5109106-04 6 6 04 30.5 19 42 .5
5109106-06 6 10 06 35.3 19 47.8
5109108-04 8 6 04 30 19 42 .5
5109168-05 8 8 05 33 19 455
5109110-04 10 6 04 30 22 455
51091410-06 10 10 06 35.8 22 50.8
5109112-06 12 10 06 35.3 22 50.8
51091412-08 12 12 08 41 22 56
5109114-06 14 10 06 35.3 22 50.8
51091414-08 14 12 08 41 22 56
5109145-10 15 16 10 56.5 26 64.5
5109116-08 16 12 08 42 22 56
5109116-10 16 16 10 56.5 22 60.5
5109148-10 18 16 10 56.5 24 62.5
5109148-12 18 20 12 64.9 24 72
5109122-14 22 22 14 71.2 28 77
5109128-16 28 25 16 76.7 30 83.5
5109134-20 34 32 20 91.5 33 97.5
5109142-24 42 40 24 109.4 35 113

E L ERACS T WARE . 2. a5 05 200 51092-Xx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 51092-XX-XX.

NGS

45



WAL HOSE FITTING

NL
] = NS
RETAINING NUT L.T.

= REIRR)

T o EriME R ~F JE 1559
C D S2 MPa

NL-12 M12X1.5 6 14.5 6 14

NL-14 M14X1.5 8 14.5 8 17

NL-16 M16X1.5 10 15.5 10 19

NL-18 M18X1.5 12 15.5 12 22

NL-22 M22X1.5 15 17 15 27

NL-26 M26X1.5 18 18 18 32

NL-30 M30X2 22 20 22 36 %Tﬁ !
NL-30D M30X1.5 22 19 22 36

NL-36 M36X2 28 21 28 41
NL-36D M36X1.5 28 21 28 41

NL-45 M45X2 35 24 35 50
NL-45D M45X1.5 35 25 35 50

NL-52 M52X2 42 24 42 60

NS-14 M14X1.5 6 16.5 6 17

NS-16 M16X1.5 8 16.5 8 19

NS-18 M18X1.5 10 17.5 10 22

NS-20 M20X1.5 12 17.5 12 24

NS-22 M22X1.5 14 20.5 14 27 R
NS-24 M24X1.5 16 20.5 16 30 S
NS-30 M30X2 20 24 20 36

NS-36 M36X2 25 27 25 46

NS-42 M42X2 30 29 30 50

NS-52 M52X2 38 32.5 38 60




WAL HOSE FITTING

A
C
-

i

1221
BSP MALE O-RING SEAL
JLEHMRLL O JE e &

S 5 4 w" , R ~f
iy REMED e | e (OB A T ¢ [k
12211-04-04 G1/47X19 6 04 24 11 19
12211-04-06 G1/4"X19 10 06 23.5 11 19
12211 -06-06 G3/8"X19 10 06 26 12 22
1221-08-04 G1lPR2"X14 6 04 335 14 27
12211-08-06 G1l/2"X14 10 06 335 14 27
12211-08-08 G1lR2"X14 12 08 30 14 27
1221-10-10 G5/8"X14 16 10 34 15.% 30
1221-12-10 G3/47X14 16 10 35 15.5 32
1221-12-12 G3/47X14 20 12 35 15.% 32
1221-12-16 G3/47X14 25 16 36 15.5 32
1221-16-16 G1"'X11 25 16 41 18.5 41
1221-20-20 G1l.1A"X11 32 20 45 20 50

E: 1 ERAS T WARE .

2. MFHHTHSGEHE S SN 12212-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 12212-XX-XX.

NGS

47



WAL HOSE FITTING

A
[

5.

LI

12611

BSP MALE 60°CONE SEAT

JEHMRLL60° P HEN

. o W& R
iy RFMED e | kB Al c | st
12611-02-03 G1/8"X28 5 03 22 10 12
12611-04-04 G1/4"X19 6 04 24 12 14
12611-06-05 G3/8"X19 8 05 26 13.5 17
12611-06-06 G3/8"X19 10 06 26 13.5 17
12611-06-08 G3/8"X19 12 08 26.5 135 19
12611-08-06 G1lR2"X14 10 06 30.5 16 22
12611-08-08 G1lR2"X14 12 08 30.5 16 22
12611-10-08 G5/8"X14 12 08 325 17.5 24
12611-10-10 G5/8"X14 16 10 34 17.5 24
12611-12-08 G3/47X14 12 08 35.5 18.5 27
12611-12-10 G3/47X14 16 10 37 18.5 27
12611-12-12 G3/4"X14 20 12 36 18.% 27
12611-16-12 G1"X11 20 12 40.5 | 20.5 36
12611-16-16 G1"X11 25 16 425 | 205 36
12611-20-16 G1l.1A"X11 25 16 435 | 20.5 46
12611-20-20 G1l.1AX11 32 20 445 | 20.5 46
12611-24-20 G1l.12"X11 32 20 49 23 50
12611-24-24 G1.12"X11 40 24 49 23 50
12611-32-32 G2"X11 50 32 545 | 255 65

E: L ERACS T WA .

2. Wi TG AT 0 12612-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER 1S12612-XX-XX.

NGS

48



WAL HOSE FITTING

=

12610A

S IMRLL60° PAHE T Bk N A i 1]

HIEH 5 B B R0 45k

T BSP MALE DOUBLE USE FOR 60°CONE SEAT
OR BONDED SEAL

. o W& R
iy RTHMED e | B Al c | st

12611 A-02-03 G1/8"X28 5 03 22 10 14
12611 A-04-04 G1/4"X19 6 04 25 12 19

12611 A-04-05 G3/8"X19 8 05 25 12 19
12611 A-06-05 G3/8"X19 8 05 26 13.5 22
12611 A-06-06 G3/8"X19 10 06 27.5 13.5 22
12611 A-06-08 G3/8"X19 12 08 28.5 13.5 22
12611 A-08-06 G1lR2"X14 10 06 33 16 27
12611 A-08-08 G1lR2"X14 12 08 32 16 27

12611 A-08-10 G1/2"X14 16 10 32 16 27
12611 A-10-08 G5/8"X14 12 08 35 17.5 30
12611 A-10-10 G5/8"X14 16 10 36 17.5 30
12611 A-12-08 G3/4"X14 12 08 36.5 18.5 32
12611A-12-10 G3/4"X14 16 10 375 18.5 32
12611 A-12-12 G3/4"X14 20 12 38 18.5 32
12611 A-16-12 G1"X11 20 12 425 | 205 41
12611 A-16-16 G1"X11 25 16 43 20.5 41
12611 A-20-16 G1l.1AX11 25 16 455 | 205 50
12611 A-20-20 G1l.1A47X11 32 20 455 | 205 50
12611 A-24-24 G1.12"X11 40 24 50 23 55
12611 A-32-32 G2"X11 50 32 545 | 255 70

E: L ERACS T WA .

SERIES NUMBER IS 12612A-XX-XX.

2. Wi TS S B0 12612A-Xx-x%
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

NGS

49



WAL HOSE FITTING

. ! fﬂﬁé"{__‘_@ [T
-

22611-T 22611-W
T NIRZL 60° AME TR

BSP FEMALE 60°CONE

. o W& R
iy REMED e | B Al c | sz
22611-02-03 G1/8"X28 5 03 15 55 14
22611-02-04 G1/8"X28 6 04 17.5 55 14
22611-04-03 G1/4"X19 5 03 17 55 19
22611-04-04 G1/4"X19 6 04 19 55 19
22611-04-05 G1/4"X19 8 05 19 55 19
22611-04-06 G1/4"X19 10 06 19 55 19
22611-06-04 G3/8"X19 6 04 21 6.3 22
22611-06-05 G3/8"X19 8 05 21 6.3 22
22611-06-06 G3/8"X19 10 06 21 6.3 22
22611-06-08 G3/8"X19 12 08 21.5 6.3 22
2261-08-06T G1lR2"X14 10 06 21 7.5 27
22611-08-08 G1lPR2"X14 12 08 23 7.5 27
22611-10-08 G5/8"X14 12 08 235 95 30
22611-10-10 G5/8"X14 16 10 24 .5 9.5 30
2261-12-08T G3/4"X14 12 08 22 10.9 32
22611-12-10 G3/4"X14 16 10 24 .5 10.9 32
22611-12-12 G3/47X14 20 12 24.5 10.9 32
2261-16-12T G1"X11 20 12 24 11.7 41
22611-16-14 G1"X11 22 14 26 11.7 41
22611-16-16 G1"X11 25 16 27.5 11.7 41
2261-20-16T G1l.1A47X11 25 16 27.5 11 50
22611-20-20W G1l.1A47X11 32 20 30.5 11 50
22611-24-20T G1l.12"X11 32 20 32 13 55
22611-24-24\N G1l.12"X11 40 24 32 13 55
22611-32-24T G2"X11 40 24 30 16 70
22611-32-32W G2"X11 50 32 31.9 16 70

LU TV . 2. W Fase e {05 2O 22612-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 22612-XX-XX.

NGS

50



WAL HOSE FITTING

NGS

L b
| /érl)? X J o s
==°{§" | T 2261D
- FLEF RS 60° ANHE T XS
BSP FEMALE 60°CONE DOUBLE HEXAGON
W R+
B | ®THMED _
A N Al Cc | s1 | s2
2261 D-04-04 G1/4"X19 6 04 24.5 55 19 19
2261 D-06-06 G3/8"X19 10 06 27 6.3 22 22
22611 D-08-08 G1/2"X14 12 08 30.5 7.5 27 27
2261 D-10-08 G5/8"X14 12 08 31 9.5 30 30
2261 D-12-08 G3/4"X14 12 08 315 10.9 32 32
2261 D-12-12 G3/4"X14 20 12 345 10.9 32 32
22611 D-16-16 G1"X11 25 16 38.5 11.7 41 41
22611D-20-20W | G1.14"X11 32 20 44 11 50 50
L ERC B TROUKE . 2. Wi TS 1 S Ok 22612D-xxx%
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 22612D-XX-XX.

L A
| /‘ﬁ-l/'_ L Ay P
o I 22611D-SM
N T MRS 60° AMIE I XN
BSP FEMALE 60°CONE DOUBLE HEXAGON
L7 E N ~f
(A=) EIMED =
T A | c | s1]| s2
22611D-04-04SM G1/4"X19 6 04 23555 12 19
22611D-06-06SM G38"X19 10 06 24.5 6.3 17 22
22611D-08-08SM G1/2"X14 12 08 29 7.5 22 27

22611D-10-08SM G58"X14 12 08 29 9.5 22 30
22611D-12-08SM G3/M4"X14 12 08 315 | 10.9 27 32
22611D-12-12SM G3/4"X14 20 12 33.5 | 10.9 27 32
22611D-16-16SM G1'X11 25 16 355 11.7 32 41
22611 D-20-20SM | G1.1A"X11 32 20 42 11 41 50

T L EIRACT T -

2. TS AE AR S 50k 22612D-XX-XXSM .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 22612D-XX-XXSM.

NGS

51



WAL HOSE FITTING

22641 22641-T 22641-W
45° GRS 60° AMEH
45°BSP FEMALE 60°CONE
f& B | ETAMED A

AN | b 5 A C H S2
2264104-04 G1/4"X19 6 04 40 55 21 19
2264106-04 G38"X19 6 04 43.2 6.3 21 22
2264106-05 G3/8"X19 8 05 45.3 6.3 22 22
2264106-06 G38"X19 10 06 47 6.3 24 22
2264108-06T G1/2"X14 10 06 48.1 7.5 23.9 27
2264108-08 G1R2"X14 12 08 59.5 7.5 27 27
22641410-08 G58"X14 12 08 61.4 9.5 26.5 30
2264140-10 G58"X14 16 10 63 9.5 29 30
2264112-08T G3/47X14 12 08 61.8 | 109 | 26.9 32
2264142-10 G3/47X14 16 10 63 10.9 29 32
2264142-12 G3/47X14 20 12 75.5 | 10.9 32 32
2264116-12T G1"X11 20 12 80.8 | 11.7 | 334 41
22641416-16 G1"X11 25 16 86 11.7 34 41
2264120-16T G1.1A4"X11 25 16 85.3 11 31.1 50
2264120-20W G1l.1A"X11 32 20 98.8 11 38 50
2264124-24WN G1l.1P"X11 40 24 116.8 13 455 55
2264132-32W G2"X11 50 32 135.7 16 52.7 70

E L ERACS T RWARE . 2. Tl TS s A5 B0y 22642-xx-xX.

SERIES NUMBER IS 22642-XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

NGS

52



WAL HOSE FITTING

22691-T 22691-W
90° DA NIREAr 60° AMHETH
90°BSP FEMALE 60°CONE
o e K& R

f© 5 |BETHMED ToE | & e A |C H | sz
2269102-03 G1/8"X28 5 03 26.5 55 315 14
2269102-04 G1/8"X28 6 04 27.5 55 355 14
2269104-03 G1/4"X19 5 03 26.5 55 335 19
2269104-04 G1/4"X19 6 04 27.5 55 37 19
2269104-05 G1/4"X19 8 05 31 55 41.5 19
2269104-06 G1/4"X19 10 06 30 55 36.5 19
2269106-04 G3/8"X19 6 04 27.5 6.3 39 22
2269106-05 G3/8"X19 8 05 31 6.3 43.5 22
2269106-06 G3/8"X19 10 06 33 6.3 445 22
2269108-06T G1R2"X14 10 06 35.3 7 43.3 27
2269108-08 G1P2"X14 12 08 425 7.5 53 27
2269108-10 G1R2"X14 16 10 56.5 7.5 55.5 27
2269110-08 G5/8"X14 12 08 42 .5 95 535 30
2269110-10 G5/8"X14 16 10 48.5 95 58 30
2269112-08T G3/4"X14 12 08 41 10.9 | 52.1 32
2269112-10 G3/4"X14 16 10 48.5 10.9 58 32
2269112-12 G3/4"X14 20 12 50.5 10.9 66 32
2269116-12T G1"'X11 20 12 65.5 11.7 68.3 41
2269116-14 G1"'X11 22 14 71.2 11.7 69.3 41
2269116-16 G1"'X11 25 16 66 11.7 78.5 41
2269120-16T G1l.1A4"X11 25 16 78 11 69.5 50
2269120-20W G1l.1A4"X11 32 20 91.5 11 84.3 50
2269124-24W G1l.12"X11 40 24 109.4 13 103 55
2269132-32W G2"X11 50 32 131.8 16 123.3 70

T L ERACS T W .

SERIES NUMBER IS 22692-XX-XX.

2. WMFHH TSR AE AT 8 22692-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

NGS

53



WAL HOSE FITTING

22691K

BSP FEMALE CONE DOUBLE HEXAGON

90 T il 5 NIRZL 60° AHMEIHI

f 5 | #@7amo —2 B S

AR AR ] A C H S1 S2
22691K04-04 G1/4"X19 6 04 175 55 18.5 11 19
22691Kk06-04 G3/8"X19 6 04 20 6.3 24 16 22
22691K06-05 G3/8"X19 8 05 20 6.3 24 16 22
22691K06-06 G3/8"X19 10 06 20 6.3 24 16 22
22691K08-06 G1R"X14 10 06 23 7.5 28.5 19 27
22691K08-08 G1R"X14 12 08 235 7.5 28.5 19 27
22691k 10-10 G5/8"X14 16 10 245 9.5 30.5 22 30
22691k 12-12 G3/4"X14 20 12 275 | 10.9 33 27 32
22691k 16-16 G1"X11 25 16 43 11.7 | 385 33 41

E: L ERACS T WA .

2. Wi TS S B0 22692K-xx-x%
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 22692K-XX-XX.

NGS




WAL HOSE FITTING

f A

Eo

S S

-

A

=

JJUUUL[LLI:
R

—

e

id“_UJJLILILIUU_I:

22111 22111-T 22111-W
A NIRRT
BSP FEMALE MULTISEAL

f 8 Y S | S A
AFRATE ] A C S2

22111-02-04 G1/8"X28 6 04 19 2 14
22111-04-03 G1/47X19 5 03 19 4 19
22111-04-04 G1/4"X19 6 04 205 4 19
22111-06-05 G38"X19 8 05 20 5 22
22111-06-06 G3/8"X19 10 06 225 5 22
22111-06-08 G3B"X19 12 08 21 5 22
22111-08-06T G1R2"X14 10 06 22.5 6 27
22111-08-08 G1R2"X14 12 08 25.5 6 27
22111-08-10 G1R2"X14 16 10 24 6 27
22111-10-10 G58"X14 16 10 26 8 30
22111-10-12 G58"X14 20 12 25 8 30
22111-12-08T G3/47X14 12 08 25 9.5 32
22111-12-10 G3/47X14 16 10 26 9.5 32
22111-12-12 G3/4"X14 20 12 26 9.5 32
22111-16-12T G1"'X11 20 12 26.5 11 41
22111-16-14 G1"X11 22 14 26.5 11 41
22111-16-16 G1"'X11 25 16 28.5 11 41
22111-20-16T G1.1A4"X11 25 16 27.5 11 50
22111-20-20W G1.1A4"X11 32 20 315 10 50
22111-24-24W G1.12"X11 40 24 37 11.5 55
22111-32-32W G2"X11 50 32 34 15 70

T L ERACS T W

NUMBER IS 22212-XX-XX.

2. Wi TG AT 20 22212-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SE

RIES

55



WAL HOSE FITTING

22141 22141-T 22141-W
45° gL N IRGUEKH
45°BSP FEMALE MULTISEAL
f 5 | mae —— % B A
APRNAE br 5 A C H S2
2214102-04 G1/8"X28 6 04 AT 216 | 14
2214104-03 G1/4"X19 5 03 413 | 4 204 | 19
2214104-04 G1/4"X19 6 04 A3 kA 216 | 19
2214106-05 G3/8"X19 8 05 462 | 5 229 | 22
2214106-06 G3/8"X19 10 06 481 | 5 239 | 22
2214106-08 G3/8"X19 12 08 604 | 5 254 | 22
2214108-04T | G1R"X14 6 04 439 | 6 238 | 27
2214108-06T | G1R2"X14 10 06 425 | 6 182 | 27
2214108-08 G1R"X14 12 08 618 | 6 26.8 | 27
2214108-10 G1R"X14 16 10 73 6 29 27
2214110-10 G5/8"X14 16 10 737 | 8 28.9 | 30
2214110-12 G5/8"X14 20 12 798| 8 | 325| 30
2214142-08T | G3/4"X14 12 08 63.2 | 95 | 283 | 32
2214142-10 G3/4"X14 16 10 704 | 95 | 296 | 32
2214142-12 G3/4"X14 20 12 80.6 | 95 | 332 | 32
2214116-12 G1"X11 20 12 816 | 11 | 335 | 41
2214116-14 G1"X11 22 14 833 | 11 33 41
2214116-16 G1"X11 25 16 89.2 | 11 35 41
2214120-16T | G1.14"X11 25 16 914 | 9.1 | 371 | 50
2214120-20W | G1.14"X11 32 20 102.9| 10 | 41.2| 50
2214124-24W | G1.12"X11 40 24 119.8| 115 | 49 55
2214132-32W G2"X11 50 32 137.4| 15 53 70
W LRSS PR . 20 T TESRE RSO 22142-x%-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S22142-XX-XX.

56



WAL HOSE FITTING

22191-T 22191-W
90° L NIRRT

90°BSP FEMALE MULTISEAL

fow | mme % B LS
AFRALE ] A C H S2
2219102-04 G1/8"X28 6 04 30 2 38 14
2219104-03 G1/47X19 5 03 27 4 35 19
2219104-04 G1/4"X19 6 04 30 4 38 19
2219104-05 G1/47X19 8 05 33 4 41.5 19
2219106-05 G3/8"X19 8 05 33 5 42 22
2219106-06 G3/8"X19 10 06 35.3 5 44.3 22
2219106-08 G3/8"X19 12 08 41 5 50 22
2219108-06T | G1R"X14 10 06 35.3 6 46.8 27
22191608-08 G1R"X14 12 08 41 6 52,5 27
2219110-10 G58"X14 16 10 56.5 8 57.5 30
2219110-12 G58"X14 20 12 65.5 8 67 30
2219142-08T | G3/A4"X14 12 08 41 9.5 52 32
2219112-10 G3/47X14 16 10 56.5 9.5 | 585 32
2219112-12 G3/4"X14 20 12 65.5 9.5 68 32
2219116-12T G1'X11 20 12 66.2 11 68.5 41
2219116-14 G1'X11 22 14 71.2 11 69.5 41
2219116-16 G1'X11 25 16 76.7 11 75 41
2219120-16T | G1.1A"X11 25 16 76.7 10 78 50
2219120-20W | G1.1A4"X11 32 20 92.3 10 85.3 50
2219124-24W | G1.12"X11 40 24 109.4| 115 | 108 55
2219132-32W G2"X11 50 32 133.1| 15 123.8| 70
o 1O I TR . 2. Wi T RBek FrE o 22192030,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22192-XX-XX.

57



WAL HOSE FITTING

A
_c% 13011-SP
%lf G M ALy
B I ERE
lTE:\MiJﬂLILIJJULLI__
_ BSP MALE
. X L7 =4 N ~F
£ = R4 E e —
INFRNAE b 5 A C S1
13011-02-03SP R1/8"X28 5 03 22 10 12
13011-02-04SP | R1/8"X28 6 04 225 | 10 12
13011-04-04SP R1/4"X19 6 04 27 145 14
13011-04-05SP | R1/4"X19 8 05 25 | 154 | 14
13011-04-06SP | R1/4"X19 10 06 27 | 145 | 17
13011-06-04SP | R3/"X19 6 04 275 | 15 17
13011-06-05SP | R3/8"X19 8 05 26.5 15 17
13011-06-06SP | R3/"X19 10 06 27.5 15 17
13011-06-08SP | R3/8"X19 12 08 30 15 19
13011-08-06SP | R1R"X14 10 06 345 20 | 22
13011-08-08SP R1/2"X14 12 08 35 20 27
13011-08-10SP | R1R"X14 16 10 38 20 | 22
13011-08-12SP R1/2"X14 20 12 38 20 27
13011-12-08SP | R3/4"X14 12 08 37 20 | 27
13011-12-10SP R3/4"X14 16 10 38 20 27
13011-12-12SP | R3/4"X14 20 12 385 | 20 27
13011-12-16SP R3/4"X14 25 16 39.5 20 32
13011-16-12SP | R1"X11 20 12 44 | 255 | 36
13011-16-16SP R1"X11 25 16 45 25.56 36
13011-20-20SP | R1.14”X11 32 20 495 | 265 | 46
13011-24-24SP | R1.1/2"X11 40 24 525| 26,5 | 50
13011-32-24SP | R2"X11 40 24 57 |30 65
13011-32-32SP R2"X11 50 32 59 |30 65

LB T . 2. s T s e {05 8O 13012-xx-xxSR
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 13012-XX-XXSP.

NGS

58



WAL HOSE FITTING

A
B
7 14211
= & JMULHHL F= 1 ORFS AMBELF-1H 0 P
ISO 8434-3—SAE J1453
= ORFS MALE O-RING SEAL

A SR A ’ijé 5] O i :1
14211-04-04 9/16"X18 6 04 0011 22.3 9.8 17
14211-06-04 11A6"X16 6 04 0012 24.2 | 11.2 19
14211-06-06 11/16"X16 10 06 0012 24.2 11(2 19
14211-08-06 13/16”"X16 10 06 0014 26.8 | 12.8| 22
14211-08-08 13/16"X16 12 08 0014 27.3 128 | 22
14211-08-10 13/16”"X16 16 10 0014 28,5 128 | 22
14211-10-08 1"X14 12 08 0016 315 | 155 27
14211-10-10 1"X14 16 10 0016 33 15.5 27
14211-12-08 1.316"X12 12 08 0018 36.5 17 32
14211-12-10 1.316"X12 16 10 0018 36 17 32
14211-12-12 1.3/16"X12 20 12 0018 36.5 17 32
14211-16-12 1.716"X12 20 12 o021 37 175 | 38
14211-16-16 1.7/16"X12 25 16 0021 39.5 17\5 38
14211-20-20 1.11/16"X12 32 20 005 415 | 175 | 46
14211-24-24 2"X12 40 24 0029 445 175 55

E L ERRSHTFRAKE. 2. IFHTFHESERERSTECN 14212-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

NGS

SERIES NUMBER IS 14212-XX-XX.

59



WAL HOSE FITTING

C A

C A

{H" i4|%ﬁ' imllﬁ 2 ‘|
B UL ]__HAMUUUUJJU_L_J Z<_E§4_‘_|_U_UUJ_|ULIU_L_J
= o L
24211 24211-T 24211-W
5 1H) ORFS N2 L-F 1
ORES FEMALE ELAT SEAT
ISO 12151-1—SAE J516
K= O E L s
NENAE b 5 A H S2
24211-04-04 9/16"X18 6 04 255 8.5 19
24211-04-05 9/16”"X18 8 05 225 | 85 19
24211-04-06 9/16"X18 10 06 22.5 8.5 19
2421-06-04T 11/16”"X16 6 04 235 | 10 22
2421-06-05T 11/16"X16 8 05 235 | 10 22
24211-06-06 11/46”"X16 10 06 26.5 | 10 22
24211-06-08 11/16”"X16 12 08 26 10 22
2421-08-05T 13/16"X16 8 05 25 11 27
2421-08-06T 13/16"X16 10 06 24.5 11 27
24211-08-08 13/16"X16 12 08 28 11 27
24211-08-10 13/16"X16 16 10 29 11 27
2421-10-08T 1"X14 12 08 29 13.5 30
24211-10-10 1"X14 16 10 34 13.5 30
2421-10-12 1"X14 20 12 34 13.5 30
2421-12-08T 1.3/16"X12 12 08 30.5 15 36
2421-12-10T 1.3A6"X12 16 10 325 | 15 36
24211-12-12 1.3/16"X12 20 12 36.5 15 36
24211-12-16 1.3A6"X12 25 16 36 15 36
2421-16-12T 1.7/16"X12 20 12 325 148 41
2421-16-14T 1.7A6"X12 22 14 35 14.8 41
2421-16-16T 1.7/16"X12 25 16 34.3 148 41
24211-16-20 1.7A6"X12 32 20 395 | 14.8 41
2421-20-16T 1.11/16"X12 25 16 34.5 15 50
2421 -20-20W 1.11/16"X12 32 20 425 | 15 50
2421-20-24W 1.11/16"X12 40 24 42.5 15 50
2421-24-20T 2"X12 32 20 36 14.8 60
2421 -24-24T 2"X12 40 24 37.2 14.8 60

LB AU g
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER 1S24212-XX-XX

2. WMFHH T HEGEHAE AT N 24212-XX-XXo

NGS

60



WAL HOSE FITTING

24291 24291-T 24291-W
90° 37| ORFS N IRSF- T
90°ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516
B B E A o

AFRAE by 5 A H C S2
24291-04-04 9/16”"X18 6 04 27.5 43.5 8.5 19
24291-04-05 9/16"X18 8 05 33 44 85 19
24291-06-05T 11/16"X16 8 05 33 37.5 10 22
24291-06-06 11/16"X16 10 06 33 50 10 22
24291-08-08 11/16"X16 12 08 425 55 10 22
24291-08-06T 13/16"X16 10 06 35.3 39.8 11 27
24291-08-08 13/16"X16 12 08 41 58 11 27
24291-08-10 13/16"X16 16 10 56.5 615 11 27
24291-10-08T 1"X14 12 08 41 46 135 30
24291-10-10 1"X14 16 10 485 67.5 135 30
24291-10-12 1"X14 20 12 50.5 75.5 135 30
24291-12-10T 1.3/16"X12 16 10 56 515 15 36
24291-12-12 1.3/16"X12 20 12 65.5 78 15 36
24291-12-16 1.3/16"X12 25 16 76.7 835 15 36
24291-16-12T 1.7/16"X12 20 12 65.5 63 14.8 41
24291-16-14T 1.7/16"X12 22 14 712 63 14.8 41
24291-16-16T 1.7/16"X12 25 16 76.9 67.5 14.8 41
24291-20-16T 1.11/16"X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/16"X12 32 20 93 100 15 50
24291-24-20T 2"X12 32 20 915 785 14.8 60
24291-24-24T 2"X12 40 24 109.4 92 14.8 60

L ERACS T . 2. IR TS O A0S B0 24292-xx-xX

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 24292-XX-XX.

NGS

61



WAL HOSE FITTING

A
/]7_!_
| T S AT HEE AMR AL
%& NPT MALE
E 51
B poe [ H A

AFRAAE b A C S1
15611-02-03 Z1/8"X27 5 03 215 10.% 12
15611-02-04 Z1/8"X27 6 04 225 | 105 12
15611-04-03 Z1/4"X18 5 03 27 15 17
15611-04-04 Z1/4"X18 6 04 275 | 15 17
15611-04-05 Z1/4"X18 8 05 275 | 15 17
15611-04-06 Z1/47X18 10 06 275 |15 17
15611-06-04 Z3/8"X18 6 04 29 16 19
15611-06-05 Z3/8"X18 8 05 29 16 19
15611-06-06 Z3/8"X18 10 06 29 16 19
15611-06-08 Z3/8"X18 12 08 29.5 16 19
15611-08-06 Z1/2"X14 10 06 335 19bH 22
15611-08-08 Z1/2"X14 12 08 34 19.5 22
15611-08-10 Z1/2"X14 16 10 351 19b 22
15611-12-08 Z3/47X14 12 08 37 19.5 27
15611-12-10 Z3/4"X14 16 10 37 19.5 27
15611-12-12 Z3/4"X14 20 12 38,5 | 195 27
15611-12-16 Z3/4"X14 25 16 39.5 196 32
15611-16-10 Z1"X11.5 16 10 45 25.5 36
15611-16-12 Z1"X11.5 20 12 45 255 36
15611-16-16 Z1"X11.5 25 16 475 | 25.5 36
15611-20-16 Z1.1/4"X11.5 25 16 49 26.5| 46
15611-20-20 Z1.14"X11.5 32 20 50.5 | 26.5 46
15611-24-24 Z1.1/2"X11.5 40 24 535 | 27.5| 50
15611-32-32 Z2"X11.5 50 32 56.5 | 27.5 65

E: 1L ERAS T RARE .

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

2. FE MRS AT B0 15612-xx-xXo

SERIES NUMBER IS 15612-XX-XX.

NGS

62



WAL HOSE FITTING

A

C 16011
W Ft SAE FMZRLAY O JEJE

| st
J&fﬂumm’ SAE O-RING SEAL

ISO 11962-SAE J1926

L7 =i N i
(1 IRLE T ey O JElE A = T o
16011-04-04 7/16"X20 6 04 0904 2450 14
16011-05-04 1/2"X20 6 04 (0]°]05) 215 |91 17
16011-06-05 9/16"X18 8 05 0906 22959t 1y
16011-06-06 9/16"X18 10 06 (0]°]05) 225 |99 17
16011-08-06 3/4"X16 10 06 098 235 | 111 22
16011-08-08 3/4"X16 12 08 09® 24 11.1 | 22
16011-10-08 7/8"X14 12 08 0910 30 12.7| 27
16011-10-10 7/8"X14 16 10 0910 31 12.7| 27
16011-12-10 1.116"X12 16 10 0912 34 151 | 32
16011-12-12 1.116"X12 20 12 0912 34 151 | 32
16011-16-16 1.5/16"X12 25 16 0916 36 15(1 38

F L PR S HFRARE . 2. FHH TSR E RS SO 16012-XX-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 16012-XX-XX.

NGS

63



WAL HOSE FITTING

A
—
@@ | 7, 1671L
T
™~
l L T 31C 74°MALE CONE SEAL LONGER
51 N ‘
FEH JIC AMERLL 74° HMETH
\ W@ R
T W E S B -

NIRNE s 5 A C S1
16711L-04-04 7/16"X20 6 04 43 30.5 17
16711L-05-04 1/2"X20 6 04 43 30.5 19
16711L-05-05 1/2"X20 8 05 43 30.5 19
16711L-06-04 9/16"X18 6 04 47 32.5 22
16711L-06-05 9/16"X18 8 05 47 32.5 22
16711L-06-06 9/16”X18 10 06 47 32.5 22
16711L-08-06 3/4"X16 10 06 51 36.5 24
16711L-08-08 3/4"X16 12 08 515 | 36.5 24
16711L-10-06 7/18"X14 10 06 56.5 | 40 30
16711L-10-08 7/8"X14 12 08 57 40 30
16711L-10-10 7/18"X14 16 10 58 40 30
16711L-12-08 1.1A6"X12 12 08 63 44 .5 36
16711L-12-10 1.1A6"X12 16 10 64 44 .5 36
16711L-12-12 1.1A6"X12 20 12 64 44 .5 36
16711L-16-12 1.5A6"X12 20 12 66 44 .5 41
16711L-16-16 1.5A6"X12 25 16 67 44 .5 41
16711L-20-16 1.58"X12 25 16 705 | 45.7 50
16711L-20-20 1.58"X12 32 20 71.2 | 45.7 50
16711L-24-20 1.78B"X12 32 20 715 | 46 55
16711L-24-24 1.78B"X12 40 24 715 | 46 55




WAL HOSE FITTING

&
]
=

e
i

-

16711

KAl JIC AMZEr 747 AT
JIC 74°MALE CONE SEAL

o |
B [T A ko
¢ =22 E —

N AR | tr = A | c | si
16711-04-03 7116"X20 5 03 26 14 12
16711-04-04 7/16"X20 6 04 26 14 12
16711-05-04 1/2"X20 6 04 26 14 14
16711-05-05 1/2"X20 8 05 26 14 14
16711-05-06 1/2"X20 10 06 26.5 14 17
16711-06-04 9/16"X18 6 04 26.6 14.1 17
16711-06-05 9/16"X18 8 05 26.6 14.1 17
16711-06-06 9/16”X18 10 06 26.6 14.1 17
16711-08-06 3/4"X16 10 06 30.7 16.7 22
16711-08-08 3/4"X16 12 08 31.2 16.7 22
16711-10-06 7/8"X14 10 06 34.3 19. 24
16711-10-08 7/8"X14 12 08 34 19.3 24
16711-10-10 7/8"X14 16 10 35.8 19. 24
16711-12-08 1.146"X12 12 08 38.5 21.9 30
16711-12-10 1.1/16"X12 16 10 394 21. 30
16711-12-12 1.1A6"X12 20 12 394 21.9 30
16711-12-16 1.1/16"X12 25 16 42 21. 30
16711-14-10 1.3A6"X12 16 10 41.5 22.6 32
16711-14-12 1.3/16"X12 20 12 40.5 22. 32
16711-16-12 1.5A6"X12 20 12 43.6 23.1 36
16711-16-16 1.5/16"X12 25 16 45.1 23. 36
16711-20-16 1.58"X12 25 16 47 24.3 46
16711-20-20 1.5/8"X12 32 20 48.3 24. 46
16711-24-20 1.78"X12 32 20 53 27.5 50
16711-24-24 1.78B"X12 40 24 535 27.5 50
16711-32-32 2.1P2"X12 50 32 62.9 | 33.9 65

T L ERACT T W

SERIES NUMBER IS 16712-XX-XX.

2. Wi TG AT 2O 16712-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

NGS

65



WAL HOSE FITTING

A , L5 A

74

“Lmﬁﬂfwmﬂum .
o

” St JIC AMZE L 740 NN
26711 26711-T JIC FEMALE 74°CONE SEAT
= B4 E A A

AFRNE br 5 A C S2

26711-04-03 7/16"X20 5 03 14.5 9 15
26711-04-04 7/16"X20 6 04 15 9 15
26711-05-04 1/2"X20 6 04 16 9.5 17
26711-05-05 1/2"X20 8 05 16 95 17
26711-05-06 1/2"X20 10 06 16.5 95 17
26711-06-04 9/16"X18 6 04 16.5 105 19
26711-06-05 9/16"X18 8 05 16 105 19
26711-06-06 9/16"X18 10 06 16.5 105 19
26711-06-08 9/16"X18 12 08 16 10.5 19
26711-08-06 3/4"X16 10 06 18 11 24

26711-08-08 3/4"X16 12 08 18.5 11 24
26711-08-10 3/4"X16 16 10 19.5 11 24

26711-10-08 7/8"X14 12 08 19.5 13 27
26711-10-10 7/8"X14 16 10 205 13 27
26711-10-12 7/8"X14 20 12 20 13 7
26711-12-08T 1.1/16"X12 12 08 19 15 32

26711-12-10 1.1/16"X12 16 10 215 15 32
26711-12-12 1.1/16"X12 20 12 215 15 32

26711-12-16 1.1/16"X12 25 16 23.5 15 32
26711-14-12 1.3/16"X12 20 12 215 15 36

26711-16-12T 1.5/16"X12 20 12 18.5 16 41
26711-16-16 1.5/16"X12 25 16 24.5 16 41
26711-16-20 1.5/16"X12 32 20 24 16 41
26711-20-16T 1.5/8"X12 25 16 23 17 50
26711-20-20W 1.5/8"X12 32 20 26 17 50
26711-24-20W 1.7/8"X12 32 20 26.5 20 55
26711-24-24W 1.7/8"X12 40 24 26.5 20 55
26711-32-24T 2.1/2"X12 40 24 27 235 75
26711-32-32T 2.1/2"X12 50 32 27 235 75

L ERACT WA . 2. W I 2Rae O A0S 200 26712-xx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER 1S26712-XX-XX.

NGS

66



WAL HOSE FITTING

45° FEH| JIC WIRLL
74° WHEID SAE J514
45°JIC FEMALE 74°CONE

SEAT
26741 26741-W
T R
(L BEE T mE | W= Alc | n | =2
2674104-03 7116"X20 5 03 37.6 9 17.2 15
2674104-04 7/16"X20 6 04 37 9 18 15
2674105-04 1/2"X20 6 04 40.5 95 185 17
2674105-05 1/2"X20 8 05 41.5 95 20 17
2674105-06 1/2"X20 10 06 44.6 95 20.3 17
2674106-04 9/16"X18 04 40.5 | 10.5 18.5 19
2674106-05 9/16"X18 8 05 42 10.5 20.5 19
2674106-06 9/16"X18 10 06 44 10.5 20.5 19
2674108-06 3/4"X16 10 06 45 11 21.5 24
2674108-08 3/47X16 12 08 56.5 | 11 24 24
2674140-08 7/18"X14 12 08 575 13 24.6 27
2674140-10 7/8"X14 16 10 60 13 26 27
2674140-12 7/18"X14 20 12 75.7 13 28.9 2V
2674142-08 1.1A6"X12 12 08 58 15 255 32
2674142-10 1.1/16"X12 16 10 60.5 15 27 3P
2674142-12 1.1A6"X12 20 12 735 | 15 30 32
26741414-12 1.3A6"X12 20 12 77.4 15 30 36
26741416-12 1.5A6"X12 20 12 77.4 16 30 41
2674116-16 1.5A6"X12 25 16 84 16 325 41
2674120-20W 1.58"X12 32 20 959 | 17 35.2 50
2674124-20W 1.78"X12 32 20 100.9 | 20 40.1 55
2674124-24WN 1.78"X12 40 24 114.8 | 20 44.1 55
2674132-32T 2.12"X12 50 32 135.9 | 235 51.6 75
T LB CE T TS, 2. W] O 1O 5 80 2674200,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S26742-XX-XX.

67



WAL HOSE FITTING

90° | JIC WIRLL
74° WHEID SAE J514
90°JIC FEMALE 74°CONE

SEAT
26791 26791-W
L7 = N ~
(I BRLE T T A c v —
2679104-03 7/16"X20 5 03 26.5 9 309 15
2679104-04 7/16”"X20 6 04 275 | 9 33 15
2679105-04 1/2"X20 6 04 D5 O e SRR A
2679105-05 1/2"X20 8 05 31 | 95| 385 | 17
2679105-06 1/2"X20 10 06 353 | 95| 393 | 17
2679106-04 9/16”X18 6 04 275 [105| 345 | 19
2679106-05 9/16”X18 8 05 31 |105| 39 19
2679106-06 9/16”X18 10 06 33 |105| 40 19
2679106-08 9/16”X18 12 08 35.8 | 10.5| 39.8 | 19
2679108-06 3/4"X16 10 06 33 |11 415 | 24
2679108-08 3/4"X16 12 08 425 |11 485 | 24
2679108-10 3/4"X16 16 10 49 |11 475 | 24
2679140-08 7/8"X14 12 08 425| 13 49.8 2y
2679140-10 7/8"X14 16 10 485 |13 54 27
2679110-12 7/8"X14 20 12 50.5| 13 62 27
2679112-08 1.116"X12 12 08 425 |15 50.5 | 32
2679142-10 1.1/16"X12 16 10 485 15 55 3D
2679142-12 1.116"X12 20 12 60.5 |15 63 32
2679112-16 1.116"X12 25 16 74 |15 635 | 32
2679114-12 1.316"X12 20 12 65.5 |15 635 | 36
2679116-12 1.516"X12 20 12 65.5 |16 635 | 41
2679116-16 1.516"X12 25 16 66 | 16 755 | 41
2679120-20W | 1.58"X12 32 20 915 |17 80.5 | 50
2679124-20W | 1.7/8"X12 32 20 91.5 |20 80.5 | 55
2679124-24W | 1.78"X12 40 24 109.4 | 20 94 55
2679132-32T | 2.1R"X12 50 32 133.1 | 235 | 121.8| 75
H L RS HFRARE. 2. W TSRS 50 26792-xX-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 26792-XX-XX.

68



WAL HOSE FITTING

26791K

g0 S5 5 JIC WIRESL

4P WNAHET SAE J514
90°JIC COMPACT FEMALE 74° CONE SEAT

X ® i IN ~f

s S APRAAE ) A C H s1 S2
26791K04-04 7/16”X20 6 04 17.5 9 18 2 15
26791K06-04 9/16"X18 6 04 20 10.5 | 205| 14 19
26791K06-06 9/16"X18 10 06 20 10:5 =20! 16 19
26791K08-06 3/4"X16 10 06 23 11 25 19 24
26791K08-08 3/4"X16 12 08 23.5 11 25 22 24
26791K10-08 7/8"X14 12 08 25 13 |27 22 27
26791K10-10 7/8"X14 16 10 25 13 |27 22 27
26791K12-12 | 1.146"X12 20 12 29 15 |31 27 32
26791K16-16 | 1.5/16"X12 25 16 43 16 |343| 33 41

E: L ERACS T MARE .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER 1S26792K-XX-XX.

2. it TSRS O 26792K-xx-xx%

NGS

A
C
| %/7;7

1781

Il SAE AMZEZL 90° AT

j%<><é J JHJUUHUU, SAE MALE 90° CONE
S1
- ‘ W R
o= WALE N b= A | C st
17811-04-04 7/16"X20 6 04 25.5 12.7 12
17811-05-05 1/2"X20 8 05 27 14.2 14
17811-06-06 5/8"X18 10 06 28.5 15.7 17
17811-08-08 3/4"X16 12 08 34 19 22
17811-10-10 7/8"X14 16 10 385 22.4 24
17811-12-12 1.1/16"X14 20 12 44 25.4 30
L ERS T wmARE . 2. R TS E AR S SO 17812-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 17812-XX-XX.

69



WAL HOSE FITTING

e 27811
£ SAE NI 4L
‘ % 90° PYHETH SAE J513
o .
5w %JIMMHML SAE FEMALE 90°CONE SEAT
e
- B R
(- s AR | B A [ c | s2
27811-04-03 7/16"X20 5 03 14 9 15
27811-04-04 7/16"X20 6 04 15 9 15
27811-05-05 1/2”X20 8 05 16 9.5 17
27811-06-04 5/8"X18 6 04 17 11.3 22
27811-06-05 5/8"X18 8 05 17 11.3 22
27811-06-06 5/8"X18 10 06 17 11.3 22
27811-08-08 3/4"X16 12 08 185 | 11 24
27811-10-08 7/8"X14 12 08 18.5 | 13 27
27811-10-10 7/8"X14 16 10 20.5 | 13 27
27811-12-12 1.116"X14 20 12 215 | 14.3 32
E L ERR S HTFRARE. 2. FHTFHESRERTECN 27812-XX-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER [S27812-XX-XX.

70



&L HOSE FITTING

C A

%m%; 21611

:%@m} Wumumuu, 23] NPSM A #24

NPSM FEMALE 60° CONE
60° AN SAE J514

L7 = R ~F
fo BAE e | W A B | 2
21611-04-04 1/4"X18 6 04 18| 44 19
21611-04-06 | 1/4°X18 10 06 19 | 46| 19
21611-06-04 3/8°X18 6 04 o8| D)
21611-06-05 | 3/8"X18 8 05 19 | 6 | 22
21611-06-06 | 3/8"X18 10 06 19 | 6 | 22
21611-08-08 | 1/2'X14 12 08 215 |75 | 27
21611-12-10 | 3M4°X14 16 10 24 |89 | 32
21611-12-12 | 3M4°X14 20 12 24 |89 | 32
21611-16-12T | 1'X115 20 12 25 | 105| 41
21611-16-16 | 1°X115 25 16 27 | 105| 41
21611-20-20W | L1A4"X115 32 20 205 |11.2| 50
21611-24-24W | 112°X115 40 24 205 |11.2| 55
L ERRESHTRARE . 2. MFHTESKRERTEHN 21612-XX-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S21612-XX-XX.

71



WAL HOSE FITTING

A 87312
m SAE %% 3000PSI
- Bons SAE FLANGE 3000 PS|
SO 12151-3—SAE J516

[ =

1 [Ty

! gy [T S|
MERE | B A lc| b L

8731208-08 1/2” 12 08 455 30.4 24 6.73
8731242-08 3/4” 12 08 475 38.1| 31.7 6.73
8731242-10 3/4” 16 10 49 38.1 31.7 6.73
8731242-12 3/4” 20 12 48.5 38.1| 31.7 6.73
87312412-16 3/4” 25 16 49 38.1 31.7 6.73
87312416-12 1” 20 12 51 44 4 38 8
87312416-16 1" 25 16 48 44 .4 38 8
87312416-20 1” 32 20 53 44 4 38 8
8731220-16 1.14" 25 16 57 50.8 43 8
8731220-20 1.14” 32 20 56 50.8 43 8
8731224-20 1.12" 32 20 68 60.3 50 8
8731224-24 1.12" 40 24 74 60.3 50 8
8731232-24 2" 40 24 70 71.4 62 9.53
8731232-32 2" 50 32 70 71.4 62 9.53
8731240-40 2.12" 64 40 76 84.1 74 9.53

1R T TG 2. W% TR o a0k 873125000

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 87312-XX-XX.

72



WAL HOSE FITTING

77
Z) 7~ T
N

) | 87342
45° SAE i%>% 3000PS|
45°SAE FLANGE 3000 PSI
ISO 12151-3—SAE J516

B VL /miﬂé & - . CR S kl T
8734208-08 1/2” 12 08 56.5 30.2 24| 23.66.73
8734212-08 3/4” 12 08 589 |38.1|31.7| 24 | 6.73
8734242-10 3/4” 16 10 69.9 38.1 31.Y25.3| 6.73
8734212-12 3/4” 20 12 735 | 38.1| 31.7| 295 6.73
87342416-12 1" 20 12 76.3 |44.4| 38 | 28.9 8
8734216-16 1" 25 16 83. 44 4 | 38 31 8
87342416-20 1" 32 20 945 |44.4) 38 | 33.8 8
8734220-16 1.14” 25 16 82 50.8| 43 | 30.5 8
8734220-20 1.14” 32 20 95 50.8 | 43 36 8
8734224-20 1.12” 32 20 959 (60.3| 50 | 35.2 8
8734224-24 1.12” 40 24 108 | 60.3| 50 42 8
8734232-24 2" 40 24 1099 | 714 | 62 | 39.1| 9.53
8734232-32 2" 50 32 129.3 | 71.1| 62 43 | 9.53

E L ERACS T RWARE . 2. il TS A5 800 87342-xx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

SERIES NUMBER IS 87342-XX-XX.

NGS

73



WAL HOSE FITTING

A

= TN
ftﬂw

87392
90° SAE %™ 3000PSI
90°SAE FLANGE 3000 PSI

| D|
-{fé ISO 12151-3—SAE J516
&
T L7 E R ~F
AV =2 SRR R ) m c = T 2
8739208-08 1/2” 12 08 42.5 30.2 24 48 6.73
8739212-08 3/4” 12 08 42.5 38.1 | 31.7| 50 6.73
8739212-10 3/4” 16 10 56 3871 531 7AE 525 6.73
8739242-12 3/4” 20 12 60.5 38.1 | 31.7| 62,5 | 6.73
8739212-16 3/4” 25 16 76.7 38.1 | 31.7| 67.5 | 6.73
8739216-12 1" 20 12 65.5 44.4 | 38 62 8
8739216-16 1" 25 16 66 44.4 | 38 74 8
8739216-20 1" 32 20 91.5 44.4 | 38 78.5 8
8739220-16 1.14" 25 16 76.7 50.8 | 43 67.5 8
8739220-20 1.14" 32 20 75 50.8 | 43 86 8
8739220-24 1.14" 40 24 107 50.8 | 43 78.5 8
8739224-20 1.1p2" 32 20 75 60.3 | 50 90 8
8739224-24 1.12" 40 24 89 60.3 | 50 102 8
8739232-24 2" 40 24 109.4 71.4 | 62 94 9.53
8739232-32 2" 50 32 115.5 71.4 | 62 129.5| 9.53
8739240-40 2.1p" 64 40 131.8 84.1 | 744 | 116.3| 9.53
F 1L ERS A TRARE . 2. FHH TYSHE R SN 87392-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87392-XX-XX.

74



WAL HOSE FITTING

A

i
a 87392-

90° SAE %> 3000PSI

?4@

=l al 90°SAE FLANGE SPECIAL HEIGHT

.y o K R 7

IS BERE Twmr | W B A lc ol n L
8739242-12(H90) 3/4” 20 12 65.5 38.1 32 a0 6.73
8739242-12(H100) 3/4” 20 12 65.5 | 38.1 | 32 100 | 6.73
8739242-12(H127) 3/4” 20 12 65.5 38.1 32 127 6.73
8739242-12(H150) 3/4” 20 12 65.5 | 38.1 | 32 150 | 6.73
8739246-16(H100) 1’ 25 16 76.7 | 444 | 38 100 8
8739246-16(H127) 1" 25 16 76.7 44.4 | 38 127 8
8739216-16(H150) 1’ 25 16 76.7 | 44.4 | 38 150 8
8739220-20(H100) 1.14" 32 20 915 | 50.8 | 43 100 8
8739220-20(H157) 1.14" 32 20 91.5 | 50.8 | 43 127 8
8739220-20(H150) 1.14" 32 20 915 | 50.8 | 43 150 8
8739224-24(H127) 1.12" 40 24 109.4 | 50.8 | 50 127 8




WAL HOSE FITTING

FL 3000 PSI HALF FLANGE

FS 6000 PSI HALF FLANGE

SAE %=k
o5 | wews A I
A B D H M N Mpa
300(PS
FL-08 1/2" 54 | 456 | 9 | 6.2 | 38.1 |17.5 | M8X25
Fl-12 3/4” 65| 51.8| 11| 6.2 47.6 222 MI10X30 345
FL-16 1’ 70 | 584 | 11 | 75 | 524 | 26.2 | M10X30
FL-20 1.1/4” 79, %7261 ALl ¢ 7.5 =587 " 305N =M10XE0M 2716
FL-24 1.12" 91 | 82.2 [ 135| 7.5 | 69.9 | 357 | M12X35
FL-32 2% 102| 964| 138 9 | 778 | 429| mizxas| O
FL-40 2.1p" 114 | 1082 | 135 9 | 88.9 | 50.8 | M12X40 17.2
FL-48 3’ 135| 130.6| 17.5| 9 | 106.4| 61.9 | M16X50 13.8
600(PS
FS08 1122 56 | 472| 9| 72| 40§ 182  M8X3p
FS12 3/4” 71| 60 | 11 | 82 | 50.8 | 23.8 | M10X35
FS16 7 81| 69.6| 13 9 | 57.2 | 27.8| M12x45
FS20 1.144" 95 | 77.2 | 135| 9.8 | 66.6 | 31.8 | M12X45 K
FS24 12z 113| 95 |175| 12 | 79.3 | 36.5| M16X55
FS32 2" 133 | 1138 22 | 12 | 96.8 | 44.5 | M20X70

76



WAL HOSE FITTING

T 87612
s SAE #:*% 6000PSI

) JL [ LI
SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

row P A LY
WAL br 5 A C D L

87612-08-08 1/2” 12 08 475 31.7 24 7.75
87612-12-10 3/4” 16 10 505 41.3 32 8.76
87612-12-12 3/4” 20 12 51.5 41.3 32 8.76
87612-16-12 1" 20 12 56 47.6 38 953
87612-16-16 1” 25 16 525 47.6 38 953
87612-16-20 1" 32 20 61 476 | 38 953
87612-20-16 1.1/4” 25 16 65 54 44 10.29
87612-20-20 1.1/4” 32 20 62 54 44 10.29
87612-24-20 1.1/2” 32 20 75 635 | 51 12.57
87612-24-24 1.1/2” 40 24 79 63.5 51 12.57
87612-32-24 2" 40 24 85 794 | 67 12.57
87612-32-32 2" 50 32 79 79.4 67 12.57

L ERRSH RS RS . 2. iEH TSR ER S BN 87612-XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 87612-XX-XX.

7



WAL HOSE FITTING

A

N

%A i
, [0
R R

87642
45° SAE i 6000PS|

45° SAE FLANGE 6000 PST

ISO 12151-3—SAE J516

. o L74 Ed R J
(A7 %A T P A c 5 ¥ 3
87642-08-08 1/2” 12 08 57.5 31.7 24 25 7.75
87642-08-12 1/2” 20 12 77 317 24 | 296 7.75
87642-12-10 3/4” 16 10 72.5 41.3 32| 282 8.76
87642-12-12 3/4” 20 12 75.5 413 32 32 8.76
87642-16-16 17 25 16 86 47.6 38 34. 9.53
87642-20-20 1.1/4” 32 20 100 54 44 40 10.29
87642-24-20 1.1/2” 32 20 105.8 635 | 51 451 12.57
87642-24-24 1.1/2” 40 24 112 635 | 51 46 12.57
87642-32-24 2" 40 24 125.4 794 | 67 54.7 12.57
87642-32-32 2" 50 32 143 794 | 67 49 1257

E: L EBRRS T RAKE .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 87642-XX-XX.

2. TS AT B0 87642-xx-xX

NGS

78



WAL HOSE FITTING

A

LI
fﬂﬂu

K

[

87692

90° SAE %> 6000PSI

90° SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

(A= 1R ” %&4 & it
APRHNAE br 5 A C D H L

87692-08-08 1/2” 12 08 A5 o7 el 50 7.75
87692-12-10 314 16 10 56 413 | 32 | 565 8.76
87692-12-12 3/4” 20 12 505 | 41.3| 32 655 8.76
87692-16-12 1" 20 12 655 | 476 | 38 | 69 953
87692-16-16 1" 25 16 66 476 | 38 | 78 953
87692-16-20 1" 32 20 915 | 476 |38 | 855 953
87692-20-16 1.1/4” 25 16 76.7 54 |44 | 785 | 1029
87692-20-20 1.1/4” 32 20 75 54 | 44 92 10.29
87692-24-20 1.1/2” 32 20 915 | 635 |51 | 945 | 1257
87692-24-24 1.1/2" 40 24 89 635 |51 | 107 | 1257
87692-32-24 2 40 24 1004 | 794 |67 | 116 | 1257
87692-32-32 2 50 32 1155 | 794 |67 | 1385 | 1257

F 1L PRSI TwARE . 2. HH THESEHE R SN 87692-XX-XX

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 87692-XX-XX.

79



WAL HOSE FITTING

60°

A
B
| %/fﬁ

o<

| L

18611

HAC A HISNMERE60° MR

JIS METRIC MALE 60°CONE SEAT

b |
o W E A AT

AFRNAE br 5 A B S1
18611-14-04 M14X1.5 6 04 29.5 17 17
18611-16-04 M16X1.5 6 04 305 18 17
18611-16-06 M16X1.5 10 06 30.5 18 17
18611-18-06 M18X1.5 10 06 305 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 355 20 24
18611-24-10 M24X1.5 16 10 395 215 27
18611-30-12 M30X1.5 20 12 455 26 32
18611-33-16 M33X1.5 25 16 505 30 36
18611-36-20 M36X1.5 32 20 56.5 33 38
18611-42-24 M42X1.5 40 24 595 36 46

E L EBRRSHTFRARE. 2. MFHFHTHESRERS BN 18612-XX-XXo

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
SERIES NUMBER IS 18612-XX-XX.

FITTIN

NGS

80



WAL HOSE FITTING

HAS N EREL 60° P HE T

e a— B A— JIC METRIC FEMALE 60°
/T\ W% /\ N CONE SEAT
: “’LH T 8 “‘L4 : i
SEa =R
28611 28611-W
- ‘ oA R
o HALE AT b = A |8 s1 | s2
28611-12-14 M12X1.5 6 04 20 9 17 17
28611-14-04W M14X1.5 6 04 23 10.5 19 19
28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611-18-06 M18X1.5 10 06 24 115 24 24
28611-18-08 M18X1.5 12 08 24.5 115 24 24
28611-20-08 M20X1.5 12 08 285 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 M24X1.5 12 08 275 15 32 32
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12 M30X1.5 20 12 285 18.3 36 36
28611-33-12 M33X1.5 20 12 31 213 41 41
28611-33-16 M33X1.5 25 16 32 213 41 41
28611-36-20 M36X1.5 32 20 35.5 20 46 46
28611-42-24W M42X1.5 40 24 36 18.8 55 55
L ERRS RS . 2. i TSRS 5 SN 28612-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 28612-XX-XX.

81



WAL HOSE FITTING

90° HAABINIRS60° NN
90° JIS METRIC FEMALE 60° CONE SEAT

28691
L ‘ L7 Ed IN ~F
A=) IS E T = A = T st s2
2869114-04W M14X1.5 6 04 30 10.5 40 19 19
2869114-06 M14X1.5 10 06 35.3 | 10.5(43.3| 19 19
2869116-05 M16X1.5 8 05 33 10 44 22 2p
2869118-06 M18X1.5 10 06 35.3 [ 11.5]46.3| 24 24
2869122-08 M22X1.5 12 08 41 14 | 525| 27 27
2869124-10 M24X1.5 16 10 56 15 59 32 32
2869130-12 M30X1.5 20 12 65.5 | 18.3| 71.5| 36 36
2869133-16 M33X1.5 25 16 76.7 | 21.3| 76 41 41
2869136-20 M36X1.5 32 20 93 20 89 | 46 | 46
2869142-24W M42X1.5 40 24 109.4 | 18.8| 108 | 55 55
d L ERRSHTRARE. 2. WHH TSR ERS B 28692-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 28692-XX-XX.

82



WAL HOSE FITTING

60°

% |

19611

HATLHISMERL 60° HMHEIH

JIS GAS FEMALE 60°CONE SEAT

S1
y % ® Rk
(L LIS N A [ B | st
19611-04-04 G1/4"X19 3 04 29 16 17
19611-06-06 G3/8"X19 10 06 31 18 19
19611-08-08 Gli2'X14 12 08 AT T R
19611-12-12 G3/4"X14 20 12 41 22 30
19611-16-16 G1'X11 25 16 455 24 36
WL ERRSHFRARE . 2. Wi HFESRE S SO 19612-xx-x%
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER
IS 19612-XX-XX.

§0°

H AT B A RS 60° A HETH

JIS GAS FEMALE 60°CONE SEAT

JIS B8363
29611 29611-W
L7 e R J
(I LEIE APRNAL W 5 A C s1 S2
29611-02-03 G1/8"X28 5 03 20 7 14 14
29611-04-04 G1/4"X19 6 04 21 8 19 19
29611-04-05 G1/4"X19 8 05 21 8 19 19
29611-06-04 G3/8"X19 6 04 23 9 22 22
29611-06-06 G3/8"X19 10 06 23 9 22 22
29611-08-06 G1/2"X14 10 06 28 12 27 27
29611-08-08 G1/2"X14 12 08 265 | 12 27 27
2911-10-10 G5/8"X14 16 10 305 | 115 30 30
29611-12-10 G3/4"X14 16 10 30 135 32 32
29611-12-12 G3/4"X14 20 12 305 | 135 32 32
29611-16-16 GI'X11 25 16 32 16 41 41
29611-20-20W G11/4"X11 32 20 43 185 50 50
29611-24-24W G1.1/2"X11 40 24 435 | 19 55 55
29611-32-32W G2'X11 50 32 465 | 23 70 70
WL EIRRSHFmARE. 2. ST SR ES O 29612-xx-X%
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER IS
29612-XX-XX.

83



WAL HOSE FITTING

— 90° HIAJEE NIRL
60° WN4EM JIS B8363
90°JIS GAS FEMALE 60°
CONE SEAT
29691
(A=) IRLLE s %ﬁ# < ki
AAR | & 5 A C H S1| Ss2
2969104-04 G1/47X19 6 04 30 8 38 19 19
2969104-05 | G1/4"X19 8 05 34 8 41 | 19 | 19
2969106-06 G3/8"X19 10 06 35,6/ TrMol=_ b6l o 22
2969108-08 | G1R"X14 12 08 41 | 12 | 53 | 27 | 27
2969110-10 | G58"X14 16 10 56.5 | 11.5| 61 | 30 | 30
2969112-12 | G3/4"X14 20 12 65.5 | 13.5| 69 | 32 | 32
2969116-16 G1"X11 25 16 76.7 |16 | 76.5 | 41 | 41
2969120-20W | G1.147X11 32 20 91.5 | 185| 925 | 50 | 50
2969124-24W | G1.12"X11 40 24 109.4 |19 | 110.5| 55 | 55
2969132-32W | G2'X11 50 32 131.8 |23 | 133.8| 70 | 70

E: L ERACS T WA .

2. Wi TS AT 0N 29692-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTI)
SERIES NUMBER IS 29692-XX-XX.

NGS




WAL HOSE FITTING

7
|

H k2% 88111

Yl
J e T JIS FLANGE
W R
£ 5 RS E
N N bk B A | C D L
88111-10-08 5/8” 12 08 45 34.2 27.8 6.7
88111-10-10 5/8” 16 10 455 34.2 27.8 6.7
88111-10-12 5/8” 20 12 46 34.2 27.8 6.7
L PR HTFRARE . 2. FHH TSR ENRS SO 88112-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 88112-XX-XX.

NGS

A

N

77,
7 (1L

88141

45° HHlgk2
45°J1S FLANGE

o ‘ L74 e R ~F
R = 124 E e e A c 5 v 5
88141-10-08 5/8” 12 08 58.9 34.2 27.8 24 6.7
88141-10-10 5/8” 16 10 69.6 34.2 27.8 253 | 6.7
88141-10-12 5/8” 20 12 76.3 34.2 27.8 28.9 6.7
F L ERCS H TRAHE . 2. i H THESEHE T H0h 88142-Xx-XXo

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN
SERIES NUMBER IS 88142-XX-XX.

NGS

85



WAL HOSE FITTING

A

—p|
I 88191
/?:JMM 90° H k%

= 90°JIS FLANGE
P
57 .
C
oo " R
. = B4 E
% o NFRNE ki 5 A C D H L
88191-10-08 5/8" 12 08 41 34.2 27.8 48 6.7
88191-10-10 5/8” 16 10 56 342 | 278 | 525 | 67
88191-10-12 5/8" 20 12 66.2 34.2 27.8 62 6.7
L ERRS T RARE . 2. M TSRS 5 HON 88192-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 88192-XX-XX.

A
[% . A BB i P K
o | I C S o
|G MJHMH—L METRIC FEMALE WATERWASH INSERTS
—
£ 5 WAL E i 5 X ki
7 ARG i B A | d D
20011-22-03ST M22X1.5 5 03 24.5 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 345
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 345
H L ERRSHFRARE . 2. FHH TSR E RS SO 20012-XX-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20012-XX-XX.

86



WAL HOSE FITTING

A

_af— 70011
%A_ ) NGHIESE AN
= S T METRIC BANJO
\/ Hl DIN 7642
f = S . S - S
INFRNAE b 5 A d D H
70011-10-03 M10X1 5 03 14.5 10.1 17 10
70011-10-04 M10X1 6 04 17 10.1 17 10
70011-12-04 M12X1.5 6 04 20.5 12.1 20 1P
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
70011-12-06 M12X1.5 10 06 20.5 12.1 20 12
70011-14-04 M14X1.5 6 04 19 14.1 24 14
70011-14-05 M14X1.5 8 05 19 14.1 24 14
70011-14-06 M14X1.5 10 06 21 14.1 247 | 14
70011-16-04 M16X1.5 6 04 205 | 16.1 28 16
70011-16-05 M16X1.5 8 05 20.5 | 16.1 28 16
70011-16-06 M16X1.5 10 06 205 | 16.1 28 16
70011-18-04 M18X1.5 6 04 23 18.1 32 20
70011-18-05 M18X1.5 8 05 24 18.1 32 20
70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 M18X1.5 12 08 245 | 18.1 32 20
70011-22-06 M22X1.5 10 06 28.1 | 22.1 39 25
70011-22-08 M22X1.5 12 08 285 | 221 39 25
70011-22-10 M22X1.5 16 10 275 | 22.1 39 25
70011-26-12 M26X1.5 20 12 30.5 | 26.1 46 30
70011-30-16 M30X1.5 25 16 37 30.1 54 36
70011-30-20 M30X1.5 32 20 41 30.1 54 36
Ve L LB TR, 2. W P TR S 0k 70012-50xx
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 70012-XX-XX.




WAL HOSE FITTING

C ‘ A
% B I s
E[ . s TR R g e
>7 METRIC BOLT
DIN 7643
\A\ﬂ
N ~F
¢ = V2L E

£ 5 Rl A S = =1
700M-10 M10X1 19 4 6 14
700M-12 M12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 9 7.5 22
700M-18 M18X1.5 32 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 18 10 32
700M-30 M30X1.5 51 22 11 36

88



WAL HOSE FITTING

A
[ ——
%ﬂ— .0 72011
= f LB A
\7| [ HHI BSP BANJO
paren D
f % B4 E B S — A

NFEN S A d D H
72011-02-03 G1/8"X28 5 03 18 9.9 24 16
72011-02-04 G1/8"X28 6 04 18.5 9.9 24 16
72011-04-03 G1/4"X19 5 03 19 13.3 24 15
72011-04-04 G1/47X19 04 19.5 13.3 24 15
72011-04-05 G1/4"X19 05 19.5 13.3 24 15
72011-04-06 G1/47X19 10 06 19.5 13.3 24 15
72011-06-04 G38"X19 04 22 16.7 29 20
72011-06-05 G3/8"X19 05 22 16.7 29 20
72011-06-06 G38"X19 10 06 22 16.7 29 20
72011-06-08 G3/8"X19 12 08 23 16.7 29 20
72011-08-05 G1R2"X14 8 05 27.5 21 38 25
72011-08-06 G1R2"X14 10 06 27.5 21 38 25
72011-08-08 G1R2"X14 12 08 28 21 38 25
72011-08-10 G1R’X14 16 10 29 21 38 25
72011-10-10 G58"X14 16 10 28 23 40 27
72011-12-10 G3/4"X14 16 10 32 26.5 48 31
72011-12-12 G3/M4"X14 20 12 32 26.5 48 31
72011-16-08 G1"X11 12 08 40 33.3 60 42
72011-16-12 G1"'X11 20 12 40 33.3 60 42
72011-16-16 G1"X11 25 16 41 33.3 60 42

1 ERACS T W .

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTIN

2. T MRS A A5 B0 72012-xx-xX

SERIES NUMBER IS 72012-XX-XX.

NGS

89



WAL HOSE FITTING

C i A
o - 7208
N J - R IR A
A\&
BSP BOLT
R ~F
(A=) R E
A B C S1
720B-02 G1/8"X28 29.5 4.8 4.8 14
720B-04 GU4"X19 285 6 6 19
720B-06 G3/8"X19 38.5 9 7, 22
720B-08 G12"X14 44 13 85 27
720B-10 G58"X14 485 15 10 30
720B-12 G34"X14 56 18 10 32
720B-16 GI'X11 68.5 22 13 41
g — vl
[HHH!
N XTI
DOUBLE-CONNECTOR
o L7 = R ~F
s N B L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 e
90011-08 12 08 77
90011-10 16 10 89
90011-12 20 12 96
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170
TSR . NOTE:FOR WIRE BRAID HOSE.

90



WAL HOSE FITTING

90012
Yy TR
ELMﬂﬂMMMH{}HMHMﬂﬂMJ, DOUBLE CONNECTOR
L

. L74 Ed R ]
e AT W = L
90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 91
90012-10 16 10 97
90012-12 20 12 111
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178
W F 24848 . NOTE:FOR SPRIAL HOSE.






